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DIRECTION TEST
dcon adlemn
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Basic Level

Sumit moves 21 km in North from his House.
Then he take Right 17 km. Finally he take Right
10 km. What is respect direction of Sumit from
his house?

(a) North (b) North-East

(c¢) South-West (d) West

Ram went 10 km in North from his house. Then

he take Left 4 km, again he take left 17 km.
What is his direction from starting point ?

(a) South-West (b) North
(c) East (d) North-West

Neeraj’s school gate is in north of school. He
move out side 200 m from the gate after seeing
teacher he return back in just opposite side 300
m.Then he move left 400 m What is starting
point’s direction from him ?

(a) North-West (b) North-East
(c¢) South-East (d) East

Sunny moves 25 m in south and then he turn
right 15 m, again he turn left 25 m. What is his
direction from origin point ?

(a) East-West (b) South-East
(c¢) South-West (d) North-South

Rakhi facing towards north. She take right 25
m after this she take left 30 m. Again she move
right 25 m,then right 55 m. Finally she take right
40 m. What is her direction from origin point ?

(a) South-West (b) South
(c¢) North-West (d) South-East

1.

FAT 3 TR ¥ 21 {1 ITR DI AR =TT | IR 718
3R PR 17 fHH. =eT| 3 H 98 Y 1% RSB
gSH] 10 1. =ell, 1 9a1¢ b 98 319 AU B
fpu feem # & ?

(a) ST (b) SR-—Yd

(c) Tieor—ufd= (d) ulF=™

M AU BR H 10 fHHI. STR @1 R 7 R 1 gAT
4 TH¥1 T, fhR 9% SR g7 17 foHl. TR | STRAT ¥

ifaw o= foow foem 4 27
(a) <RE-ufyem (b) SR
(c) [ (d) SR-U¥=H

RSl & Whel BT BICd RSl & el & IR (a2 &
3R T | 98 BICh I 91eR Aderdy 200 HIeR 3R ST
T TIT 3D DTGB TeheH fJuRid = # 300 #Hiex
ST & | §9a 916 a8 910 ST o T 400 Hiex & g
TI HRAT T | 319 SPHT URMH IH fbwr fasm # 2 2

(a) STR—U=H (b) SR-—Yd
(c) wferor—od (d) wd

|11 25 Hiex qferor fam # =rel, a0 97 3iR 15 HieY
Il IFD g1 98 910 GST AR 25 HI. AT (9 a8

3o AR fag A fea feem# & 2
(a) gd — ufaw (b) =feror — qd
(c) for— o (d) SR — =R

I BT T IR 3T @ 3R B | &Y AR a8 25
Aiex Ferdll | fhR 98 iU SR 30 HIeR =Ierch! 2 |
fh g% 25 WieX <Y Feldl © | Y a8 g <T gl
€ 3iR 55 HIcX T § | 3T H 98 TV SN 40 HIY
Terell ¥ | 319 a8 URME fawg O foa faem 97 2

(a) <feror—ufd=m (b) <feror
(c) STR—uf¥=H (d) =feor—gd
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A house faces towards south. A room is situated
left after entering in house. A window is situated
right after entering in room.What is my facing
direction when 1 facing towards window ?

(a) East (b) West
(c) North (d) South

A girl walks 30 m in north-west from his home
and then 30 m in south-west. Finally she move
30 m south-cast. In end she returns to her home.
Now in which direction she is going?

(a) South-West
(b) North-East
(c¢) North-West
(d) South-East

P Q R S T U Vand W are sitting around a
round table. They have equal distance in among
them. They are arrange in clockwise rotation. If
V’s position is towards North then what is the
position of S?

(a) East (b) South-East
(¢) South (d) South-West

Manisha turn right after leaving school and then
she turn left and walk some distance again she
takes a left, and right. Finally she is facing
towards ecast. What is the starting direction of
Manisha?

(a) North-West
(¢) South

Mohan moves from his house. He takes left
after moving 100 m. Then he again take left
after moving 200 m. Finally he takes left after

300 m. Now if he is moving towards east then
what is the direction of Mohan’s house gate?

(a) North (b) South

(c) East (d) West

Ram move 2 km straight from his house and he
take right 1 km, again take right 1 km. Finally
he move towards north-west. What is the starting
direction of Ram?
(a) South-East

(c¢) South-West

(b) East
(d) North-East

(b) North-West
(d) North-East

6.

10.

11.

U AP BT aXaTell SRIT Bl 3R T | SHH e
I 1 918 3R T FHAT 8 | BN ¥ o W 1S 3R
P Ragal T | 39 Raga! 31 IR Hg Ixd ST 8H

WR T YT B AR BRI ?
() d (b) ufeew
(c) ST (d) =ferr

Tdh ASHI 3T BR ¥ e 7, 98 Ugel SoR ufead
fe=r 4 30 #Wiex =erdl § 3R e aferor uf¥e faem
# 30 ¥iex <eTell © | g: g aferor qd fawm # 30 Hiex
T © | 3T H 98 39 TR I 3R il @, I8 fey
feemd ga @ 7 ?

(a) <lEroT—ul¥=™

(b) Sv—qd

(c) STR—UulR=H

(d) <ferorud

PQ.R.S.TU VW T& Il A9 & @RI AR FHM
el § 93 U B 9 & d9 wEE o 2 19 Wit
gferomac faem 4 93 gU § | Aafe VIwR H 8,d1 Sl
Rerfr 1= o1 gRA?

(a) 9d (b) <R-gd

(c) =Rrr (d) =fro—ufem

HIT 3o faerer o e &S iR it @ derr
EB U T XA $ 918 415 3R 8P /Y g deAd|
T g 918 3IR YR §B G a9 B & 91§ 98 &1
31T qd I 3R gocll © | qamy A4 3o faemery

fora faem a1 3R Adell off ?
(a) STR-TR=H (b) ud
(c) =Rrr (d) SR—Yqd

AT 309 ER W DT YR Hal 2 | 100 Hiex go
& 915 91 gHaT © R 200 HieX Fdex 9 gAdr ©
U R gHER 300 HWIeX Fadl © | IS 319 98 YRe
oo # ST @7 © O S¥d TR BT exaror fhy fagm #
AT ?

(a) ST (b) e

(c) od (d) ufeem

M A 31U TR ¥ el YR fhar iR e 2 o
I | g8 37T SR 3R T 3iR 1 L =ar | a8 g
U SR IR gST 3R 1 fHH =] o H a5
IIR—uf¥eH faem # B, a1 98 IR™ # by fazm o1
3R T o ?
(a) <feror-gd
(c) <lErr—uld=s

(b) STR—TR=A
(d) SR-gd
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12. When Kareem slipped down than he was moving
to ecast. Before he slipped he went out from his
house 100 meters right and he turned left nearby
the school and turned left after take some
distance and finally he take a right after taking
a left. In which direction he was exit from his

house?
(a) East (b) West
(c) North (d) South

13. M s in the east of D, F is in the south of D and
K is in west of F. What is the M’s direction with
respect of K?

(a) South-West (b) North-West
(c¢) North-East (d) South

14. Five villages A, B, C, D and E are situated like
that village D is in east of B, village A is in south
of D, village E is in north of B and village C is
m west of A then, What is the D’s direction with
respect to village C?
(a) North-West (b) South-West
(c¢) South-East (d) North-East

15. Village Q is in south of village R. Village P is in
west of village Q. Village S is in north of village
R. If village S and R,P and Q are in a straight
line then, What is the direction of village Q’s
with respect to village S?
(a) South (b) West
(c) North (d) East
16. If B is in south of A and B is in west of C. C
1s in north of D and D is in west of E then, What
is the C’s direction with respect to E?
(a) North-West (b) South-East
(c¢) North-East (d) South-West
Direction : 17 to 19
Point D is in 14 meters west of point A. Point B is 4
meters south of point D. Point F is 9 meters south of
point D. Point E is 7 meters east of point B. Point C
is 4 meters north of point E. Point G is 4 meters south
of point A.
17. Which of the following points are in straight ling?
(a) D.E A b) E GC
(c) D,B, G (d E GB

12. oW 99 haer ) FRT, 99 98 4d &l a¥% oI 38T
o | fh¥e ¥ qd 98 BR ¥ el B 100 HIeY &MY
AT TAT 3N Thel & UTH ¥ GV S AT AT | B 3IR
3T Fe & q1e Y F$ AT AT T G qIY JSHY
3 H QN gST ATl 98 R ¥ fby faem & AR
e e ?

(a) 7@ (b) Ul
(c) SwR (d) =feror

13. MD® RIHT ED IR HTIRKF P
g=m H gl MK & et feg faemd g ?
(a) TleTor—uf¥=™ (b) STR-UR=A
(c) STR—Yd (d) =feror

14. U= g A, B, C, D3R E g9 ysR Rerq 8 f T D,
T Bd YA H 2, T A, T D & &feor 9 @, Ta E,
Ta Bd SR H ® IR 1 C,Ta AD ufd=q # ¢ ar
Ta D, Mg CP AT fow faem # g ?

(a) STR—Ue=H (b) <leTo—uf¥=H
(c) cferor—od (d) Sw-qd

15. i@ Q,id R& <feror % ¥ 71fa P, 7@ Q & ufdaH #
T @ S, Mg R SR # T Afe 1ig SR R UH
Al YT § 37 IR Sl UBR i PR Q1 Wit Y
H gl A Tig Qa S et fhw fasm #§ 7 ?
(a) =T (b) uf¥em

(c) SR (d) ud
16. afe B,A® <féor &F 3R € B, C & uf¥=™ & 3R
C.D® SR &I 8IR @ T2 D,E & uf¥ad &1 3R 2

ATES Cfpw faamd g ?

(a) STR—uf¥=H (b) =fer—gd

(c) STR-—Td (d) aRo—ufam
fcer - 17 & 19

fag D, g A9 uf¥am & 3R 14 Hiex O R 2| g B,
favg D ¥ 4 Wiex =feor &1 3R 2 | fd=g F, 95 D & sferor o
IR 9 AR T R IAFE, g BAYd 1 3R 7 Wiex 0
R RFC,AFEAITR AN 4 WX P W 2| fag,

G, T A ¥ <leTor @l 3R 4 HIeX W W 2|
17. < fau w1 fageit 4 9 &9 U g 4 @
(a) D,E,A (b) E.GC

(¢) D,B,G (d E.GB
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18. What is the direction of A with respect of point

C?
(a) East (b) West
(c) North (d) South

19. If a person move 5 meters in north from point
F and take a right than which of following point
came first?

(a) G (b) D
(c) E d A
Direction : 20 & 21

Read this information carefully and answer the
following  question :

Meghana walks 7 m towards west from point A &
turn left for 2 m to point C. Then she walks 4 m right
to point D. Then she turn right 2 m. Finally she move
3 m right to point B.

20. How far and in which direction is Meghana from
point A?

(a) 8 m East
(c) 10 m East

(b) 8 m West
(d) 10 m West

21. If Meghana walks 2 m south from point A to
point E. Then which of the following points are in
straight line (including E)?

(@ A B (b)
(¢c) B, C (d)
Direction : 22 & 23

A D

None of these

Raju walks 5 m south from point P. Then he walks left
2 m to point Q. He walks left 3 m, right 1 m to point
R. He moves 2 m left to point S. Finally he walks 2
m left to point T.

22. If raju walks 2 m south from T and turn left.
Then in which direction will his face be?

(a) None (b) P
() Q (d R

23. How far and in which direction is the point T
from point P?

(a) 2 m East
(¢) 1 m East

(b) 1 m West
(d) 2 m West

18. A CHfPHIARET?
(a) 9d (b) ufeew
(c) SR (d) =Ry

19. I BIE AT 5 F ¥ IR DI 3R 5 AR =l AR
fh TS IR g3 U @1 98 <1 AU gU fawgall § &

fh¥reh UTH Ugel gl ?

() G (b) D
(c) E @ A
Ader - 20 7 21

[IHIIeTfeaT SRl &1 917 | 9Iay el a7 Y g9 &
gV FIfory —
HOAT 9 95 A9 a1 URY dam, uf¥am &1 &R 7 Hiex
TR, 9t IR e 2 Hiex =efl e fag C R ugdh | fiw
9% aRT SR I TqAT 4 HWieX A a5 D W ugal | fx
I8 S 3R & T Sifow IR T oo & gl 2 Wiex I,
R 3 Wex Taax fdg B W ugdl |
20. weoeT a5 A9 o faem | e fhai gr & ?
(a) 6 HIex ul¥=H (b) 8 e ul¥aH
(c) 10#eR gd (d) 10 ¥ex ul¥=H
21, e a1 g A% 2 HieR <807 1 iR TR qer fag
E R ugdl, a9 fFrefoiad 4 3 &4 A1 950 (E 3l
TIPHR) Up Wrer § gEfy ?

(a) A.B (b) A,D
(c) B.C (d) 378 I B T8
Ader - 22 7 23

5] P1awg 9 Fataw, 5 HIex &1 &1 3R 137 3iR R a1g
3R {2 Hex AT 7= Q fag R uga T | I8t & 918
3R PSR 3 HIEX 7T AR F&[ A T8 3R GSDY 1 HIC T
qeIm R =g W uga a7 | I8l I 978 AR 2 HeR FgADR S
fvg R uga AT 3= ¥ 9% 915 3TN SR 2 HIeX AADPY
T o5 W ugd |

22, Al S T ¥ ST BT 3R 2 WeY SaR 978 3R 48

S A1 SEDT Y fbd 3R BT
(a) DTS Tl () P
(© Q (d R

23. 15 P9, fog T fdaeil g iR fw fem 4 g ?
(a) 2¥IeR, gd @I AR (b) 1 ¥, ul¥=™ Pl AR
(c) 19eR qd @1 3R (d) 2 e uf¥=d &l 3R
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One moming after sunrise, Nishant’s shadow is
in right of him when he walk. Then he turn left
and then he turn just opposite side,which direction
was Nishant facing?

(a) West (b) East

(c¢) North-East (d) South-East

After sunrise Rajsekhar standing on road side.He
saw that Sheela is coming from opposite side. If
Rajsekhar’s shadow is in left of Sheela then
which direction was Rajsekhar facing?

(a) South (b) North

(c¢) North-East (d) South-West

After sunrise Arun standing on road side. He
saw his shadow behind him then, Which direction
was Arun’s right shows?

(a) South (b) East

(c) West (d) North

In evening, Apurva meet to Shikha If Apurva’s
shadow fells exactly left of Shikha then which
direction was Shikha facing?

(a) East (b) West

(c) North (d) South

A train is moving towards south to north. Air is
blowing towards west to east. What is the
resultant direction of smoke?

(a) North-East (b) South-West

(c) South-East (d) North-West

A train is moving towards west to east. Air is
blowing towards south.What is the resultant
direction of smoke?

(a) North-West (b) South-West

(c) North (d) South

In evening Ramesh faces towards Sun. A train
is passing behind him.If the smoke of train
blowing towards Ramesh’s left hand then which
direction was train running?

(a) East (b) West

(c) North (d) South

An ¢lectronic train is moving towards East to
West. Air is blowing towards West to East. What
is the resultant direction of smoke?

(a) North-South (b) West-East

(c) East-West (d) None of these

24,

25.

26.

27.

28.

29.

30.

31.

U A & S 918 §9 (MR F Ferer yRe™
foar a1 SwaT ufafea 39 SR JIR U XET oT | 5B
BIHAT I & 91& a8 AU di ST AR T9 4w Bl
ferm 9 g1 | SHHT Y 16w 3w 3l 3R 87

(a) dfem (b) 7d

(c) Stv—qd (d) eferor—gd

IOIRIER, AT & YN, Yag—AR S W Tl o7
< T Soas [qudia o= 3 SHa! JIR T ¥& o, o
T o ASRRIR &l WBTE IFd! -1 3R IS Bl 3 |
RIGRIER {HH Q=1 &1 3R & dad TSI & ?

(a) <fmr (b) SR

(c) STR—Yd (d) <fEor—ufd=H

T YI§ WeD W TSI © 3R I8 Ul 8 fdb SHD!
WOTS IHD YIS & W&l 2 | A0 & alfe 3R B
ferem erm g1t 2

(a) ferr (b) 7d

(c) uf¥=m (d) S

¥ & |AY YAl B8R | (dell a1 ST AT fRwar
53T | ¥R <1 < {36 aryat &1 B Rr & aRif 3R

TSR A R fow fesma s <& 8 ?
(a) gd (b) ufdem
(c) TR (d) afmr

Tdh YS! SfET0T | TR &1 3R I &1 2 | ST |y
gaT Ui 4 qd Bl 3R 98 81 ¢ | AT TS| DT GarT
e faem & STgr ?

(a) STR—Y4 (b) <fEor—ufd=zH

(c) wfeor—gd (d) ST-uR=m

T XIS UfRad 3 qd &F 3R ST & T e S o
J a1 feToT H T W61 © | Al YS! il B © ar

YIS &7 it foer foemm # S ?
(a) STR—Yd (b) =feror—uf¥=H
(c) SaR (d) =feror

YT ARG & 9T U YS! Bl IR YIS ddb
ST BT T | IUBT T Il DI AR T | IS Ierme
BT Y31 THET & 1Y §TeT Bl 3R SIT 8T 8 AT IS

fha faem P IR ST & ?
(a) gd (b) ufdem
(c) ST (d) <

T Solfdgd ¢ Sl 4d o U= 3l 3R I &1 2 |
74T &1 fa © 3R ga1 uf¥ad 9 yd &1 iR 98 W T |
IHBT 1T fobar ferem # g 2

(a) TR ¥ <oy (b) uf¥=m | Ud

(c) qd & ufkem (d) @ e
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You are facing towards South-West. If you take
135¢ left then what was your resultant direction?

(a) North (b) North-East
(c) East (d) South-East

A man is facing towards South. He take 135°
anticlockwise, 180° clockwise rotation then what
was facing side of the man?

(a) North-East (b) North-West
(c¢) South-East (d) South-West

If South-East becomes North, North-East
becomes West and so on. What will West
become?

(a) North-East
(c¢) South-East

(b) North-West
(d) South-West

If North becomes West, East becomes North
and so on. What will North-West become?

(a) South-West (b) North-East
(c¢) South-East (d) North

If South-East becomes South-West. What will
change becomes in directions?

(a) East becomes West
(b) East becomes South
(¢) West becomes South
(d) North becomes West

A man is moving towards North. Which of
following way can use for moving to East?

(@ LR R L L R
b) L,L.L,R, R, R
) LLR LR, R, R
d L RRLLILL

A man is moving towards West. Which of
following way can use for moving to East?

(@ R_L,R LR LR
() R,L,L,R, L, L R
(¢) RR L L RR

@ R.LLRRLRL

32.

33.

34.

35.

36.

37.

JMUHT qg lero—uf¥=m faem 4 €1 Aafe M 135°

91 AR T ORI T 3nmuast foem aar grf?
(a) S (b) STR-qd
(c) gd (d) aRor—gd

T 3MEH! T SIET0T HT TR T © | 98 135° arraxt
feem 4, ast | 180° aferomasd faem & gwar g, dr

ST 4 fow faem # 2 2
(a) STR—Y4 (b) STR-UR=A
(c) wfeor—gd (d) =feror—uf¥=m

i SIRT—Yd, ITR BT WY, ITR—YG U= 8T Sy
3R ST 1 gRacH BT I HH ORI I 1, ufded @
AT ?

(a) STR—Y4 (b) STR-UR=A

(c) =feor—gd (d) =feror—uf¥=m

Ife IR feem uf¥em 81 oy, g4 faem SR 81 oy
IR ST YR AT 41 yRafcld 81 I dr IR o™

P WIF W HT feem grft ?
(a) cleor—uf¥=™ (b) STR-Yd
(c) =feor—gd (d) ST

Il Sl Q= & I W alev—ui¥ed fawm
I STY, A1 f3emaii | a1 uRad g ?

(a) XA B WIF W uR=H
(b) YRE & TIM W &feor

(c) uf¥=™ & I W gferT
(d) S| & WIH R A

T AfdT IR M BT IR o X7 8, g 7 uga
@ fory SN fHe JHA BT UTed HAT BRTT?

(a) 91T, STAT, <A1, <17, o™, <721

(b) S, g7, a7, <RI, <A, R

(c) dF, afen, af, <, <, &f

(d) <Tm, <71, <0, i, 9T, 90, 95T

T afad afead fawm @ iR ot 38T @, g # ug
@ fory SN fHd SHA BT UTeAd HAT BRIT?

(a) <TdT, 9T, ST, 1T, <01, 90, ST

(b) <TaT, 9T, AT, ST, 1=, G-, <27
(c) <Idn, <, Ji ™, T, <141, SiT

(d) <Tan, 91T, <, ST, 90T, ST, 9T
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A, B, C and D are standing around a square field.
You must follow the following direction and answer

the question.
A

West North

D

1
If A moves 25 field clockwise and D moves

1
25 field anticlockwise then they are:

(a) South and West (b) North and East

(¢) South and North (d) North and West
Rohit was facing towards East. He walk left 10
m than again turn left and move 10 m. He take
right 45° and move 25 m. Which direction is he
from starting point?

(a) North-East (b) North-West

(c¢) South-West (d) South-East

Mohit was facing North-West. He turn right 135¢,
left 45¢, right 180° and left 270°. Which direction
is Mohit facing now?

(a) North (b) South

(c¢) North-West (d) South-West

Akash cycled 10 km towards South then he turn
right and cycled 5 km again turn right and cycled
10 km. Find the distance from starting point ?
(a) 10 km (b) 5 km

(¢) 20 km (d) 35 km

Neelam walks 12 km towards North from there
she walks 9 km towards South then she walks
4 km towards West. How many km is she from
the starting point ?

(a) 6 km (b) 9 km

(¢) 5 km (d) 4 km

Two persons moves in opposite side from a point.
Both moves 15 km individually then one of them
turn left and 2™ one turn towards right 15 km
respectivily. Find the distance in between them?
(a) 15 km (b) 30 km

(¢) 20 km (d) 35 km

39.

40.

41.

42.

43.

44.

U IR TR H IR Ffdd A,B,C,D & qoll & 74
H TS T | 3BT 1 @1 @ b o W SRy SR

et &1 uree foar 9w —
A
West North
B C
D

1
afe A sferorad 25 ¢ Il © AR D arrad

2%Ww%aﬁa€ﬁ—

(a) feror SR UR=M#  (b) SR &R yd #

(c) =feror iR SR #  (d) S« 3R =
RIfET BT =8 Yd Bl TR AT| 98 AU g1 AR GT
3R 10 HIeX =rerl fR g% U=l aRil 3R g7 3R 10
HIex Tl {R 9% 3FUel ST 3TR 45° JT 3R e 25
Hiex Tl | 319 98 URM™EH wIF 9 fhg feegm § 8 ?
(a) SaR-Jd (b) STR—URFH

(c) cferor—ufd=m (d) =férorqd

Aifed BT g SR uf¥ad faem 9 2| 981 9 gfv TR
135°, 981 1 91U 45°, 981 ¥ g1 180° fhx o # agf
W g7 270° HI0T W FAT & AT IHDBT Jg by 3w
H BRI ?

(a) SR (b) aferor

(c) S-—ufaH (d) <Rror—ufdem

MBI TR I 10 fHHI. Tferor @ 3R AEfdd aerar 2
R <RI Tedx 5 fHl. wEfdha e § 3R R T
HSHR 10 fhHI. ASfdheT TATaT © | TBT ¥ e TR I
fopae fdl. el Tl gl ?

(@) 10 km (b) 5 km

(¢) 20 km (d) 35 km

e U e fowg 9 12 {1 IR &1 3R STl
2| fr a8 9 fH <féror @1 oRw oIl © 8 | a8
4 f¥1. uf¥e™ @ % SIRA | 319 98 31U URMS

I W e @ W 8?
(a) 6km (b) 9 km
(c) 5 km (d) 4km

2 fdd T & I o fausia fa=m #§ g siRe
PRI T 1 IR TFT AT 15 km TF Ferd 21 94 A
Teh 371 GRT AR Foell © | 3R 15 km T =Ierel € |
Safds AT AU i AR ST § 3R 15 km Tb
AT & AT 314 J Vb gy ¥ fbail g8 © ?

(@) 15 km (b) 30 km

(¢) 20 km (d) 35 km
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Pooja walks 7 m towards South-East then she
walks towards West 14 m. From there she walks
7 m towards North-West, finally she walks 4 m
towards East. Find the distance from the starting
point ?

(a) 1m
(c) 6m

(b) 5m
@ 10m

Priya walks 20 m towards west then she turn
left and walks 40 m, again left 20 m, right 20.
Then she reached in a garden. Find the distance
and respect direction from the starting point ?

(a) 40 m, South-West
(b) 50 m, West
(c) 60 m, South
(d) 70 m, South-West

A child moves 90 m to cast then 20 m towards
right again 30 m right finally he moves 100 m
towards north. Find the distance from starting
point?

(a) 80 m
(c) 100 m

(b) 40 m
(d) 60 m
Length and breadth of a room are 8 m and 6 m
respectively. A cat complete a round of room

and then move diagonally. Find the total distance
moved by the cat ?

(a) 40 m (b) 38 m
(c) 28 m (d 32m
Vinod walks 4 km towards East from his house.
Then he turn left for 4 km again he turn left for

4 km. Find the distance and respect direction
from starting point ?

(a) North, 4 km (b) North-East, 4 km
(¢) South, 12 km (d) West, 4 km

A bus driver drive 2 km towards North from
school. Then he turn left for 5 km again turn left
for 8 km then left for 5 km. Finally turn left and

drive for 1 km left. Find how much distance and
in which direction driver move to reach school?

(a) 2 km, North (b) 5 km, North
(c¢) 6 km, South (d) 6 km, West

45.

46.

47.

48.

49.

50.

ISl SfeTo-qRe &l 3R 7 W & g T gl o |
G 916 9% IR & 3R 4$ I @ 3R 14 /1 @l
XTI BT & | Y 98 STR—UREH DI 3R 7 A Bl
T T BT © 3R AT W R DI 3R 4 7 DI 0 T
IR AU T I W Ugd Il § | g5 fh a8

3o YR M ¥ fhat o R 2°
(@ 1m (b) 5m
(c) 6m (d) 10m

uf¥gH fa=m & 3R 98 dea [UAT 20 HI. T <ercl! @
D 918 98 I SR 40 /1. I S ©§ 98 ) IRt
3IR gl © 3R 20 HIeX T aedl © | §9 918 a8 QY
el T SR 20 1. STa U1 # gl T | TR werel
F U el T W SR fha faem # 8 ?

(a) 40 m, TEU—ul¥aH (b) 50 m, =™

(c) 60 m, Tferor (d) 70 m, Sfor—ufe=™
U< =T yd fa=mm H 90 Hiex ST & | 987 | QN gSaw
20 HIeX ST 8 | fihe a8t IS¢ JSx 30 HIeX ST
21 3T H SR fa=m @1 MR 100 Hiex Feoar g1
AR 98 URMD fd7g | fhal g W g ?

(a) 80 m (b) 40 m

(c) 100 m (d) 60 m

Th PN DI WIS 3R AISTS HII 8 Hicx AR 6
AR © U fdoell SR & AR SaRT & TR WA §
TAT UH DI ¥ IR D db Aol & ey Ard 2 ar

gl faeet fhae i a9 F=ell © 2
(a) 40 m (b) 38m
(c) 28m (d) 32m

faere aro BRI gd BT AR I B o0 Faver g1
qAT 4 fHH B 0 T & | IO 98 15 REB G
3R 4 fpHT DI 0 T @I | AT | 98 d18 3R T 3R
4 fH1 @1 g0 T @ 41 9aTy & a8 370 'R ¥ b

foem 9 9 fpail O W Rerd 7 ?
(a) SR, 4 (b) STR—Yd, 4 fHH
(c) =l 12 i (d) uf¥=mm, 4 &A1

TEh 99 AP el o 2 fHH IR 1 TRe 11 %,
9 T © AT 5 fH 1. ST B | 399 U g a1g
ST ¢ eI 8 fhHl. ST © @ g 5 fbdl. =ei &
Ugel 9 qSdT © T o H 98 910 Jed7 1 fH.
ST 21 319 9a1sY 6 S (U ¥l oI & forg
el gx qeI fbw faem 4 ST us?

(a) 2 1, STR (b) 5 &4, IR

(c) 6 AL, aleroy (d) 6 fbl ufeam
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Amit walks 5 m towards North-East from point
A to B. Then he walks 8 m towards East for
point C, from there he walks same distance from
A to B towards South-West for point D, finally
he walks towards West for starting point A. Find
the total distance travel by Amit and which of
Geometerical image form by Amit ?

(a) 26 m, Square (b) 26 m, Parallelogram

(c) 26 m, Trapezium (d) 16 m, Trapezium

A and B walks in opposite side from a point.
Each of them moves 3 km then A turn right for
4 km and B also turn right and moves 4 km.
What distance is between A and B ?

(a) 8 km (b) 10 km

(c) 12 km ) 14 km

Avantika walks 10 feet towards south-west.
Then she walks towards north for 8 feet and turn
right for 10 feet. What is the distance from the
starting point?

(a) 20 feet (b) 18 feet

(c) 10 feet (d) 4 feet

Pankaj moves 10 m towards north. Then he turn
right for 20 m, again right for 25 m then left for
15 m. Finally turn left for 15 m. Find the distance
and respect direction from starting point ?

(a) 35 m, East (b) 10 m, West

(¢) 25 m, East (d) 5 m, West

I am facing towards east then I turn left for 12
feet. Then turn right for 6 feet. From there turn
towards south for 6 feet, finally towards west
for 6 feet. Find the distance and respect direction
from starting point ?

(a) 5 feet, West (b) 6 fect, East

(c) 6 feet, South (d) 6 feet, North

aad

51.

52.

53.

54.

55.

AT T e o9 A | STR—Yd &l f&em 4 <rerd
TU 5 . B g 79 I g BWR a1 ¥ | 98 9§
a8 Yd DI e | =rerar © 7o 8 W @ gl a9 B
38U fdg C R ugel & | C ¥ 98 Sferv—ufdes ol fasm
H ST U AB & 99M g 99 @ fdg D WR ug=ar
2| o # g8t ¥ 95 ulRem @ faun § gea URfMEH
g AW ugadr € a1 9a] b Affd & §RT |
fora=l 0 T &1 TS AT BT ST srapfa
T & uRYed § 18 T8 ?

(a) 26 ¥ o

(c) 26 ¥ W AT (d) 16 HI FHTH AT
A QIR BUS S8 H Uh—qiN & (quiia faem ¥ <rer=n
IE B T | A, 3 {6 gear @ iR B, 3 {5 garar
2 1A SR ST © 3R 4 B gaar § e B || gsar
2 3R 4 fHH FeaT 2| 1 991G f6 ASIR Ba d 9
@ fHan g ?

(a) 8 AT (b) 10 T

(c) 12 fopr (d) 14 f&e

ATt Teh FITR=d oI ¥ 10 Wie afeToT—uf¥ed 3l
fe=I 3 == YR &Rl © | 99 a8 I 98 SR Dl
feerm ¥ 9=d gU 8 Wic &I S TI BT § AT T-
10 HIC &1 G T PRl 8 A1 ¢ Bl g8 AT U

(b) 26 H AAFTR AT

RS I ¥ e e ?
(a) 20 BIC (b) 18 ®ic
(c) 10 Wi (d) 4 B

GehoT 10 Al STR I IR FAdT & | T4 a8 QN JSPY
20 ¥l FSAT | a8 TR U JSaw 25 Al Fadl © (Y
98 914 GSHP 15 H Fdl o | I H fh a8 91g
qSHR 15 | Foral o | 39 RIfy § dapot sl ot

Rerfar & fpa g3 qon foa feem # 2 2
(a) 354 qd (b) 10 A uf¥=m
(c) 25 Hi yd (d) 5 uf¥=™m

AT 8T Yd DI T o7 Sfet | # 978 a¥% qT eI
12 BIC IdT| 79 IHD 91 981 4 H &1 AR I 3R
6 Wi TaT | deaar H agi | <feror o1 fawm # 6 wie
I I 37T W 981 ¥ Ui &l Qe 4 6 Wi Fa |
AT TG fob IR oI H 319 H {ha1l g3 derm fdh
feem# §?

(a) 5wic, ul¥a
(c) 6wic, aferr

(b) 6w, gd
() 6%, IWN
[
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A man starts from a point and walks 2 km
towards North, turns towards his right and walks
2 km, turns right again and walks. What is the
direction now he is facing?

(a) South (b) South-East
(c) North (d) West

Janaki started from her house and walked 2 kms
towards North. Then she took a right turn and
covered one kilometre. Then she took again a
right turn and walked for 2 kms. In what direction
is she going?

(a) North
(c) South

(b) East
(d) West

Mohan starts from point A and walks 1 km
towards south, turns left and walks 1 km. Then
he turns left again and walks 1 km. Now he is

facing
(a) East (b) West
(c) North (d) South-west

Suresh starts from a point, walks 2 miles towards

1
south, turns right and walks 15 miles, turns left

1
and walk 5 miles and then he turns back. What

is the direction he is facing now?

(a) East (b) West

(c) South (d) North

Arun started from point A and walked 10 kms
East to point B, then turned to North and walked
3 kms to point C and then turned West and
walked 12 kms to point D, then again turned

South and walked 3 kms to point E. In which
direction is he from his starting point?

(a) East (b) South
(c) West (d) North

1.

Udh AR "A" T WISC A Il Yo Bl & |
IR faem | 2 {6 A1 I &, <1 gH T © $iR
2 {1 Ferar g, R <R o3 ST & 3R aerdn
& | I8 gaTsy fob 3@ a8 P AT o= H S %8 8°

(a) <feTOT (b) <feror gd
(c) ST (d) Ul

ST 3191 TR 9 Y 31 2 fobdlY oref), aefvg
I8 <l 3R gear 1 f Feft| R a8 gawr
ST QTR I 31 2 faoslt Trelt | a5 fovw femm o
W2 ?

(@) SR (b) qd

(c) Tferor (d) Ul

A5 A fawg 9 <feror faem # 1 fowefl. greren &1 a8t
A g8 9 e 1 &, gadr § iR g 4
geh} | f. Teran & | 31d SHaT 99 b famm
B IR B ?

(a) 9d (b) ufR
(c) SR (d) sRr—uftaw
G Ueb I | eIl B, R0 &l 3R 2 el aerd

&, I8 TSy & 3/ a8 fa fawr 4§ g BT 8 ?
(a) ud (b) wfR
(c) <feror (d) ST
3BT Y U fdg AW et I bt 3R 10 fa,
gd ¥ fdg B da 3, fhR a8 SR @1 IR gAT 3iR
3 {1, acTa) fdg C UR ugal, fhe a8 uf¥es @
AR Hel 3R 12 {4 fa=g D b @rer, e a8
Sfeyor @7 3TR T 3iR fdg E e 3 fopHT. =rett | a5
IR fig O fpa fRem # & 2
(a) d (b) wferor
(c) uf¥em (d) SR



ENGINEERS ACADEMY

Direction Test

6.

10.

A man starts from a point, walks 4 miles towards
north and turns left and walks 6 miles, turns
right and walks for 3 miles and again turns right
and walks 4 miles and takes rest for 30 minutes.
He gets up and walks straight 2 miles in the
same direction and turns right and walks one
mile. What is the direction he is facing?

(a) North (b) South
(c) South-East (d) West

A rat run 20' towards East and turns to right
runs 10", and turns to right runs 9', and again
turns to left runs 5' and then turns to left runs
12" and finally turns to left and runs 6'. Now
what direction is the rat racing?

(a) East (b) North
(c) West (d) South

A Driver left his village and drove North for 20
kms, after which he stopped for breakfast. Then
he turned left and drove another 30 kms, when
he stopped for lunch. After some rest, he again
turned left and drove 20 kms before stopping for
evening tea. Once more he turned left and drove
30 kms to reach the town where he had supper.
After evening tea in which direction did he drive?

(a) West (b) East

(c) North (d) South

A child walks 25 feet towards North. turns right
and walks 40 feet, turns right and walks 45 fect.
He then turns left and walks 20 feet. He turns
left again walks 20 feet. Finally, he turns to his

left to walk another 20 feet. In which direction
is the child from his starting point?

(a) North (b) South

(c) West (d) East

Raju facing North and moves 20 km, then he
turned to his right and moves 20 km and then he
moves 10 km in North-East, then he turned to
his right and moves 20 km and then he turned to
his right and moves 20 km, and again he turned

to his left and moves 20 km. Now in which
direction Raju is facing?

(a) Sourth-East (b) North-East
(c) South-West (d) North-West

6.

10.

T 3MMSH Ueh I U 4 Wil SR fawn 4 gl
2| o= 918 qea 6 et Ferdl ¥ | I: 318 Hdh
39 FeId & 3R T8I H QN JSPhY 3 Al Defdll
2 3R g8f 9 TV IS 4 HIdT TAAdR AT TUC]
YT & | &I & 918 a8 S faen 4 2 A
R FeraT & | S9® d1g TN SR U HieT Ferdll
8| 9 3ifc Rerfer 7 9 amedt &1 99 fobd fasm
# Bgrm ?

(a) IR (b) <feror

(c) TleroT—ygd (d) qf¥em

Tdh gl Yd @ AR 20 redT 8, 3R TR S
10’ STsar & 3R R SR gsx 9’ Slsar & 3iR
Y & 91 gl © 3R 5’ Slsdl © AR a9 ard
SR 12’ Tledl & 3R 3fd d a1 gsdl 8 3R 6/
SISl © | 319 S g & AFH ®iF W e g ?

(a) 9d (b) ST

(c) uf¥aH (d) <feror

TP $ISAR MU T T 3R 20 fhH IR &b
IR S @ 918 STeTuT & foT¢ b 7 | e 98
¢ A A1 3R 30 B 3R T & d1g Ao
@ oY web AT | B <X [4319 & q1g 8 [ q
A7 3R oM @ 91 & folt e 9 gl 20
fpHY. =reTT [a8 Uep dR R a1l g 3R 30 o,
TADR I P H UgAT AT Sl S AT
T | e @ arg @ 915 a8 fehd faen § gar?
() uRRem (b)

(c) IR (d) sferor

T dedl 25 HIT IR dl AR Foldl ©, TN gaadl
8 3R 40 Wi Terar 8, fh a1¢ gaar & 3R 45
Bic Ferdl 8 | fby a8 a1 gadm © 3k 20 Wie
Tl © | 98 fhe 910 gHaT & 3iR 20 Wi el
g | 3fda: 9% 3o A @R gHaT € iR v 20
WIC eIl & | I8 Feal 37U+ ARME Wil | by
feem# g ?

(a) IR (b) sl

(c) e ()

G] IR B 3R {5 dxab 20 fHH1. =reran &,
% U1 TT 3R AT 37k 20 fbH). T 6, e
10 fop#). STR—yg faem 4§ gardn g, fhr a8 3o
TT8 3R AT 3R 20 foHil. greran &, a8 O 3roeh
S18 3R gAT 3R 20 fordl. gaar g, ik e a8
3a=T |18 3MR AT 3R 20 B, Fefar 51 316 9],
&1 Yg by f=m or s e ?

() wfror—gd (b) ST—d

(c) TRU—yfeas (d) STR—Uul¥TH
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K is a place which is located 2 km away in the
north-west direction from the capital P. R is an
other place that is located 2 km away in the
south-west direction from K. M is another place
and that is located 2 km away in the north-west
direction from R. T is yet another place that is
located 2 km away in the south-west direction
from M. In which direction is T located in relation
to P?

(a) South-west
(c) West

(b) North-west
(d) North

Babu is Rahim's neighbour and his house is 200
metres away in the north west direction. Joseph
is Rahim's neighbour and his house is located
200 metres away in the south west direction.
Gopal is Joseph's neighbour and he stays 200
metres away in the sourth east direction. Roy is
Gopal's neighbour and his house is located
200metres away in the north east direction. Then
where is the position of Roy's house in relation
to Babu's?

(a) South cast
(c) North

(b) South west
(d) North east

Five boys A, B, C, D and E are sitting in a park
in a circle. A is facing South-West, D is facting
South-East, B and E are right opposite A and D
respectively and C is equidistant between D and
B. Which direction is C facing?

(a) West (b) South

(c) North (d) East

I stand with my right hand extended side-ways

towards South. Towards which direction will my
back be?

(a) North
(c) East

(b) West
(d) South

I started walking down a road in the morning
facing the Sun. After walking for sometime I
turned to my left. Then I turned to my right. In
which direction was 1 going then?

(a) East (b) West
(c) North (d) South

11.

12.

13.

14.

15.

K I i1 P ¥ SR—uf¥ed faem | 2 fa,
R RId § | R U 379 WM K 9 Slerr—uied
feem 4 2 forHl. g Rerd © | M Us 317 WM R¥
SaR-uf¥eH o # 2 il ¥ Rerd §1 TU& o
@I M ¥ Slero—ufeed fewm # 2 faHl g7 Rera
g1 T P ¥ fw faem # Reg & 2

(a) ROl (b) STR—uf¥eH
(c) uf¥=m (d) SR

19 TS BT TSIl B 3R /BT AbT Yi¥aHIR
feem # 200 #er @1 A W B | SNE B B
TSI © 3TR ST Febl G laror ufed feem # 200
e @ T WR B | AT SR BT Terl 8 3R
I8 SfeTor g fem # 200 Wew @ g3 uR 35T © |
R AT BT UGSl © 3R SHHT HepTe YaRix
feremm # 200 HIex & g W B | I BT AP 919,

P T Y T faem § Rerg g 2
(a) <o yd (b) <Ry uf¥em
(c) =N (d) yakr

A B,C,D, EUld &TS® U UIdb ¥ U I H 40
g | ADT g fRro—ufes faen &1 3R &, D@1 8
SIRTOI—Yg &= @7 31R 8, B3R E &A: AR D
@ S W § 8k C, D3R B& &g w9 g
W CHl e fpa Rem P sk g ?

(a) ufem (b) <o
(c) &R ) gd

Ife § gfeTor &1 3R 31T STAT 81U BeATdhy Wl
g, I I8 qa1sy T w9 Ui foy faem 4 & 2

(a) ST (b) Ul
(c) gd (d) faror

uTe: A BT TRW TSR BRD A Hed UR AT
IR {hT | BB THI I @ 918 ¥ AU a1
3R Y TAT| SHD d1& § Ul It 3R 4s
7| 3@ H fh Qe @Y AR S VET AqT?

(a) d (b) ufR

(c) SR (d) <feror
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Roy walks 2 km to East, then turns North-West
and walks 3 km. Then he turns South and walks
5 km. Then again he turns West and walks 2
km. Finally he turns North and walks 6 km. In
which direction, is he from the starting point?

(a) South-West (b) South-East
(c) North-West (d) North-East

Raju is Ramu's neighbour and he stays 100
metres away towards southeast. Venu is Raju's
neighbour and he stays 100 metres away towards
southwest. Khader is Venu's neighbour and he
stays 100 metres away towards northwest. Then
where is the position of Khader's home in relation
to Ramu's?

(a) South-East (b) South-West
(c) North-West (d) North

A direction pole was situated on the Road
crossing. due to an accident, the pole turned in
such a manner that the pointer which was
showing East, started showing South. Sita, a
traveller went to the wrong direction thinking it
to be West. In what direction actually she was
travelling?

(a) East (b) South
(c) North (d) West

Ram walks 10 m South from his house, turns
left and walks 25 m, again turns left and walks
40 m, then turns right and walks 5 m to reach
the school. In which direction is the school from
his house?

(a) North
(c) North-East

(b) South-West
(d) East

A boy was misdirected from his way while
returning to his home from his school. In order
to reach his home, he first moved 3 km in south
direction and then turned to his left and moved
2 km in straight direction on the road leading to
the ecast. From there, he moved to his left and
walked 3 km. After this, he again turned to his
left and moved 1 km. Finally he reached his
home. The home of the boy was in which
direction from his school?

(a) South (b) West
(c) North (d) East

16.

17.

18.

19.

20.

M 2 fredMIeR g @ 3R FerdT 8, T SoR—uf¥em
I 3R g & 3R 3 fhetMier gedr 8, R a8
SfTOT BT 3R gHAT B 3R 5 fharfier g 5 |
Ig R uf¥em @l 3R gAdT & 3R 2 fharier
AT & | 3 ¥ 6 fhaMIcy TR & 3R AT 6 |

IE IRMIE oIt 9 fbg fasm #§ 8 2
(a) ROl (b) <feroT—gd
(c) STR—uf¥eH (d) STR—gd

RTSL YW &1 TSR & 3R a8 SR — e @l 3R
100 #Iex g <&l & | A] IS HT IS & 3R a8
Sferor—uf¥em faem # 100 #ier g &1 & | WIeY
I BT USHI & 3R I8 ITR—U¥EH @7 3R 100
HIex ¥ VBdl §| W @ B W WX B TR Bl
Rerfa frea s 8 ?

(a) TRIT—Jd (b) SRTT—uf¥TH

(c) STR—ufeTH (d) SR

RIS TR Uep [QeAD T T AT | Ueb Gelel
@ BRI WHT 59 YBR A AT T gd e a1

Yo <leror fewm fe@e o | v A A
gf¥ew faem STHex o faen & =ell 718 | avaaa

¥ g8 b foom § am=m o= <8 ot ?
(@) @ (b) <f&roT
(c) ST (d) Ul

M 3O BR W 10 #. gleyor # werar ©, R 9
SR 23 Al FAdT &, R ¥ a1¢ Fggadr 40 41,
eIl & | SH 918 I JSbR 5 Al TTBR el
UGS & | SHST Thdl Sd 8- ¥ e e 7 87

(a) SR (b) slRroT—uf¥eH

(c) See—yd (&) 34

T ASHT Ihdl ¥ 30 8- Al HH IR Heh
AT | Y &R Yg - & [elY, I8 Usel <feror feem
H 3 fodl. Tar 3R @9 37U+l a1d ST 3R yd B
feemm & S ATt e uR Wil fewm # 2 f,
T | I81 W, T8 30 A eI AR 3 fl. e |
IH® 98, g8 B ¥ U aid geax 1 oAl
AT | 3 H T8 U B Ugd AT | ASD Bl OR
D Wl W fy faem ¥ or ?

(a) <feror (b) Ul
(c) SR () gd




m Verbal Reasoning

21.

22.

23.

24.

25.

General Intelligence & Reasoning

ENGINEERS ACADEMY

Anand travels 10 kms from his home to the east
to reach his school. Then he travels 5 kms to the
south to reach his father's shop, after school. He
then travels 10 kms to the west to help his uncle.
How far and in which direction is he from his
home?

(a) 10 kms North
(c) 5 kms East

(b) 5 kms South
(d) 10 kms West

A tourist drives 10 km towards West and turns
to left and takes a drive of another 4 km. He
then drives towards East another 4 km and then
turns to his right and drives 5 km. Afterwards he
turns to his left and travels 6 km. In which
direction is he from the starting point?

(a) North (b) East
(c) West (d) South

Mamatha walks 14 metres towards west, then
turns to her right and walks 14 metres and then
turns to her left and walks 10 metres. Again
turning to her left she walks 14 metres. What is
the shortest distance (in metres) between her
starting point and her present position?

(a) 38 m (b) 28 m
(c) 24 m (d) 10 m
Rama travels 10 km towards the north, turns left
and travels 4 km and then again turns right and
covers another 5 km and then turns right and

travels another 4 km. How far i1s he from the
starting point?

(a) 5 km
(c) 15 km

(b) 10 km
(d) 19 km

Siddarth and Murali go for jogging from the same
point. Siddarth goes towards the east covering 4
kms. Murali proceeds towards the West for 3
kms. Siddarth turns left and covers 4 kms and
Murali turns to the right to cover 4 kms. Now
what will be the distance between Siddhart and
Murali?

(a) 14 kms
(c) 8 kms

(b) 6 kms
) 7 kms
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Sonu travelled from a point A straight to B, a
distance of 12 km. He turned right and travelled
8 km and reached point C. From that point took
right turn and travelled 6 km and reached point
D. How far is he away from the starting point?

() 10 km (b) 12 km
(c) 13 km () 14 km

A man starts walking from a point and walks 12
kms towards north. He turns 90° left and walks
a distance and stopped. If the distance between
initial point and final positions is 13 kms, how
much distance he travelled after turning from
the North?

(@) 1 km (b) 5 kms
(c) 7 kms (d) 2 kms

A child is looking for his father. He went 90
metres in the east before turning to his right. He
went 20 metres before turning to his right again
to look for his father at his uncle's place 30
metres from this point. His father was not there.
From here he went 100 metres to his north before
meeting his father in a street. How far did the
son meet his father from the starting point?

(a) 80 m (b) 100 m
(c) 260 m (d) 140 m

Leela starts from a point and walks 1 km ecast
and then turns left and walks 2 km and turns
right and walks 2 km again. She starts towards
a point 2 km towards her right, from where again
she walks 1 km left. How far is she from the
starting point?

(a) 3 km (b) 4 km
(c) 5 km d) 2 km

Ganesh cycles towards South-West a distance
of 8 m, then he moves towards East a distance
of 20 m. From there he moves towards North-
East a distance of 8 m, then he moves towards
West a distance of 6 m. From there he moves
towards North-East a distance of 2m. Then he
moves towards West a distance of 4 m and then
towards South-West 2 m and stops at that point.
How far is he from the starting point?

(a) I2m (b) 10 m
(c) 8m (d 6 m
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From my house I walked 5 km towards North.
I turned right and walked 3 km. Again I went
one km to the south. How far am I from my

house?
(a) 7 km (b) 6 km
(c) 4 km (d) 5 km

A and B are standing at a distance of 20 km
from each other on a stright East-West road. A
and B start walking simultancously eastwards
and west-wards respectively and both cover a
distance of 5 km. Then A turns to his left and
walks 10 km. B turns to his right and walks 10
km at the same speed. Then both turn to their
left and cover a distance of 5 km at the same
speed. What will be the distance between them?

() 10 km (b) 30 km

(c) 20 km () 25 km

A walks towards north 4 kms and turns right
and walks 5 kms. Then he turns towards south
and walks 2 kms. Again, he takes a turn towards
west, walks 3 kms and stops a while. Then, he
further walks 2 kms to A. What is the distance
of A from his starting point?

(a) 16 kms (b) 12 kms

(c) 2 kims (d) 4 kms

Sujit travelled 15 km to the west, then turned
right and travelled 8 km. He turned left and
travelled 9 km. Then turned back and travelled
13 km. Then he turned right and travelled 8 km.
How far is he from the starting point?

(a) 17 km (b) 9 km

(c) 11 km ) 7 km

A man walks 7 km towards north before taking
left turn and walks further 5km. Then he takes
left turn and walks 15 km. Finally he takes left
turn again and walks 5 km. How much distance

is he away from the starting point?
(a) 8 km (b) 12 km

(c) 15 km ) 22 km
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Sanmitra walks 4 kms towards north, turns right
and walks 5 km. Then he turns towards south
and walks 2 km. Again he takes a turn towards
west walks 3 km and stops for a while. Then he
further walks 2 km. What is the distance of
Sanmitra from starting point?

(a) 16 km (b) 2 km

(c) 4 km d) 3 km

Ram walked 4 km west of his house and then
turned to South covering 8 km. Finally he moves
6 km towards East and then again 2 km West.
How far is he from his initial position?

(a) 4 km (b) 8 km

(c) 10 km ) 12 km

Ganesh is standing at a point. He walks 20 m
towards the East and further 5 m towards the
South; then he walks 37 m towards the West;
and further 5 m towards the East. What is the
straight distance in metres between his starting
point and the point where he reached last?

(a) 13 m (b) 5m

(c) I0m (d) 35 m

A man travels 4 km due North, then travels 6
km due cast and further travels 4 km due north.
How far he is from the starting point?

(a) 8 km (b) 10 km

(c) 6 km (d) 14 km

Ram and Shyam start walking towards North
and cover 20 metres. Ram turns to his left and
Shyam to his right. After sometime. Ram walks
10 metres, in the same direction in which he
turned. On the other hand, Shyam walks only 7
metres. Later, Ram turns towards his left and
Shyam to his right. Both walk 25 metres forward.

How far is Ram from Shyam now?
(a) 17 metres (b) 5 metres

(c) 10 metres (d) 20 metres
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Rachel starts walking towards North. After
walking 15 metres, she turns towards South and
walks 20 metres. She then turns towards East
and walks 10 metres. Then, again she walks 5
metres towards North. How far is she from her
starting point and in which direction?

(a) 10 metres, West (b) 5 metres, East
(c) 5 metres, North (d) 10 metres, East

A boy starts from home in early morning and
walks straight for 8 km facing the Sun. Then he
takes a right turn and walks for 3 km. Then he
turns right again and walks for 2 km and then
turns left and walks for 1 km. Then he turns
right, travels 1 km and then turns right and travels
for 4 km straight. How far is he from the starting
point?

(a) 4 km
(c) 6 km

(b) 5 km
(d) 2 km
Seema walks 30 m North. Then she turns right
and walks 30 m then she turns right and walks
55 m. Then she turns left and walks 20 m. Then

she again turns left and walks 25 m. How many
metres away is she from his original position?

(@) 45 m (b) 50 m
(c) 66 m (d) 55 m

A walks 10 metres in front and 10 metres to the
right. Then every time turning to his left, he
walks 5, 15 and 15 metres respectively. How far
is he now from his starting point?

(b) 10 metres
(d) 25 metres

(a) 5 metres
(c) 20 metres

Raju was to go to the planctarium. So he walked
1.5 kms towards east from the place and then
turned to right and walked 2.5 kms and then
turned towards east and walked 1 km and turned
to south and walked 4 kms and reached the
place by walking 2.5 kms towards west. What
distance is he from the starting point?

(a) 6.5 kms (b) 9.5 kms
(c) 10 kms (d) 9 kms
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Mr. Das started his journey from his house
straight to his friend's house at a distance of 12
km. On returning he walked 8 km in the same
route and turned right and walked 4 km, then he
turned to his left and walked 4 km. Finally he
turned to his left and walked 2 km. How far
was he from his house?

(a) 8 km (b) 4 km
(c) 6 km ) 2 km

Seeta and Geeta started walking from a point A.
Seeta walks 6 km towards North and then takes
a right turn and walks 3 km. She then takes a
right turn towards South and walks for 6 km.
She again takes a left turn and walks 3 km, and
reaches a point B. Geeta walks for 3 km towards
West and takes a left turn and walks for 6 km;
she takes a left turn and walks 9 km, and she
reaches at a point C. How far is the point B
from point C?

(a) 3 km
(¢) 9 km

(b) 4 km
) 6 km

A student walked out from the Classroom
towards the Library. She went first to the
Canteen on the left side, 24 ft away. After a cup
of tea, took a right turn and went to the
Laboratory 13 ft away. She then went to the
Physics Block, 15 ft to the left. She talked to a
friend, in the garden 3 ft on the left and continued
walking in the same direction to the Library, 10
ft more. What was the actual distance between
the Library and the Classroom?

(a) 20 ft (b) 24 fi
(c) 39 ft (d) 30 ft

After going 80 m from his house towards east,
a person turns left and goes 20 m, then turns
right and moves 100 m, then turns left and goes
60 m, then turns right and goes 120 m to reach
the park. What is the distance between his house

and the park?
(a) 80 metre (b) 120 metre

(c) 310 metre (d) 100 metre
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Dinesh and Ramesh start together from a certain
point in the opposite direction on motorcycles.
The speed of Dinesh is 60 km per hour and of
Ramesh is 44 km per hour. What will be the

distance between them after 15 minutes?

(a) 20 km
(c) 26 km

(b) 24 km
(d) 30 km

aad
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Previous Year Questions

Two buses start from the opposite points of a
main road, 150 kms. apart. The first bus runs for
25 kms. and takes a turn to right and runs for 15
kms. It then, turns left and runs for another 25
kms. and takes the direction back to reach the
main road. In the mean time, due to a minor
breakdown, the other bus has run only 35 kms.
along the main road. What would be the distance
between the two buses at this point

(a) 75 kms (b) 80 kms
(¢) 65 kms (d) 85 kms
[SSC-JE 2010]

Ashok starts from 'A' and walks to East to 'B".
Then turns South-West and walks to 'C'. then he
turns South and walks to 'D' Lastly he turns
East again and walks to 'E'. Which of the answer
figure is the exact path he has walked?

B C
D
E

E
@ | | b (b)

[
C
(c) H @

A

B
e
A D

[SSC-JE 2010]

C

In the morning at 6 a.m., Anoop walked 50 m
towards the sun, then turned right and walked 40
m, then again turned right and walked 20m, then
again turned right and walked 40 m. How many

meters is he from his original position ?
(a) 20 metres (b) 30 metres
(c¢) 50 metres (d) 60 metres

[SSC-JE 2011]

1.

3.

T Y 3 RIS B AR U fauid fdgait & A=
31 AT B S 150 fbeil. @l G R § | Ugell a9
25 T ¥l TAPR TN F ST © AR 15 fbHl. Tt
g1 9B d1€ I8 qI 4 Ol § 3R 25 b,
el B 3R 31 A W ugaA & forg die o fasm
H 4 Ol & | S dra Al R AT S &
HROT I T # IS W Had 35 fBH. Il B |
=9 Rfy 4 31 o9l & 3 31 g0 fdha sRi?
(a) 75 AT (b) 80 T,

(c) 65 AT (d) 85 T,

[SSC-JE 2010]
3eliep 1 A" fdg & = SR fosar 3R gd fa=m
®I AR Fod 8¢ 'B' g 4R AT R g8 feyor
Uf¥ed BT AR S 'C' fdg UR 1T | IHS gErd
IE SIETT BT 3R SR 'D' g U= T | 3 | %
9 qd Y 3R Fe A 'E' g W | Afa R e
for W | SHPT Wl ART DI —AT 87

B C
D
E

E
@ |, 4] ® [
B
A B
C E
© % 1 @ A//D&
[SSC-JE 2010]

JIE 6 9ol 34 G B! AR g PR 50 HI. =T,
v <l g1 3R 40 41 =reT, R SR g1 3R 20
Al =, B SR gear 40 AL a1 98 37U+

C

RS I ¥ fhad e R B ?
(a) 20 Alex (b) 30 Hex
(c) 50 Hlex (d) 60 Hex

[SSC-JE 2011]
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Nilesh walked 3 km west and turned right. He
again walked 2 km. He turned left and walked
5 km. Finally, he turned left and walked 2 km. In
which direction is Nilesh from the starting point?

(a) South (b) North
(c) West (d) East
[SSC-JE 2011]

Going 60 metres to the South of his house, Kiran
turns left and goes another 20 metres, then tuming
to the North, he goes 40 metres and then starts
walking to his house. In which direction is his
house from there ?

(a) East
(c) North

(b) North-West
(d) South-East
[SSC-JE 2012]

Ram started walking towards East. After 1 km,
he turned South and walked 5 km. Again he
turned East and walked 2 km. Finally, he turns
to the North and walked 9 km. How far is he
from the starting point ?

(a) 5 km (b) 7 km
(c) 3 km (d) 4 km
[SSC-JE 2012]

Ram travelled 6 ft towards West, he turned left
and walked 8 ft, then turned left and walked 4 ft,
then turned left and walked 8 ft again. How far is
he now from the starting point?

(a) 8 ft (b) 6 ft
(c) 4ft (d) 2 ft
[SSC-JE 2013]

The door of Priya’s house faces East. From the
back side of the house, she walks straight 50 meters,
then turns to the right and walks 50 meters again.
Finally, she turns towards the left and stops after
walking 25 meters. Now priya is facing which
direction?

(a) North
(c) East

(b) West
(d) South
[SSC-JE 2013]

4.

<reter uf¥em #I 3R 3 {41 Falr 3R a1 3R 43
AT g8 TR 2 B S g 9l g 5 fdl
IAT| AT A g5 qrdl AR qoT 3R 2 T = |

oy uRfRe werq 3 feg foem 4 87
(a) <fror (b) S
(c) uf¥em ) ud

[SSC-JE 2011]
30 BR ¥ 60 Aiex <feror faen # Feiq & 91
fozor ¢ gt & 3R fhw 20 Hex Fad &, =
Ig I 32T BT 3R GSH 40 AR FeTdl & oIl
R 98 3+ TR & TWH Fdch o | 99 W |

IpT =R fb foem § 87
(a) 9d (b) STR—URTH
(c) ST (d) sferor—ud

[SSC-JE 2012]
M g4 = # AT U aRar § 1 fHL e &
qIe g8 <Rior fa=m # gedr & @R 5 fhe. @ g8 Y
& & | e a8 qd fam | gedr e 2 fHl. @1
X T FRAT S | 31 H I8 IR =1 B 3R el
g 7T 9 fHi @1 & 99 wRar 21 9% A
URfME fog 9 faa i w7
(a) 5 T, (b) 7 T,
(c) 3 T, (d) 4 T,

[SSC-JE 2012]
I afaw fawm # 6 five o 98 99 & €, R
g8 9 g1 3R 8§ fthe T, The IR g 3iik 4
fthe =reT 3R 311 ¥ 98 ar1 el 3iR 8 the =it |
Ig 31U YR fdg ¥ fha- g uv 272
(a) 8The (b) 6 e
(c) 4The (d) 2 T%e

[SSC-JE 2013]
T & R & SRATSl T Y& qd &I IR 8 | TR B
e BT TG H 98 A 50 AR 7ol | R 98 |19
HET AT 50 AR FeAT | 31T H I8 G S 3R 25
Hex & G T F B 918w T8 | U7 3@
forer foaem # 3@ <& 87

(b) uf¥em
(d) <fror
[SSC-JE 2013]

(a) 3N

(c) qd
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11.
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Ram started from his house and travelled 3 km
towards South. Then turned left and travelled 4
km. Then again he turned right and travelled 3
km. From there, he turned left and travelled 4
km. At what distance is he now from his house ?

(a) 15 km (b) 5 km
(c) 10 km (d) 14 km

[SSC-JE 2014 (M)]
From point A, Ravi walks 5 km North-West to
point B, from point B he walks 10 km South to
point C. From point C he moves 5 km North-
East to point D. From point D he was back to

point A. If Ravi always walked in a straight line
what figure has he traced ?

(a) Trapezium (b) Rhombus

(c) Kite (d) Parallelogram
[SSC-JE 2014 (M)]

If an electric train runs in the direction from
North to South with a speed of 150 km/hr
covering 2000 km, then in which direction will
the smoke of its engine go?

(a N » S b) S - N
c)E > W (d) No direction
[SSC-JE 2014 (E)]

Which of the following are the line of symmetry?
C

(a) AB and CD
(b) EF and GH
(c) All of the above
(d) None of the above
[SSC-JE 2014 (E)]

9.

10.

11.

12.

R 370+ B8R W gleror faen 6 3 ol i g8 Ty
PRAT B | TR 98 3+ 91¢ godr & ar 4 fol,
Ferdl © | B g I8 37U qIV gl © 3R 3
fepdll, TreTclT © | 8T 9 98 a1¢ oo & AT 4 fobey
I & | 3T 3 'R ¥ foha g W 87
(a) 15 ot (b) 5 o,
(c) 10 fopin. (d) 14 f&.

[SSC-JE 2014 (M)]
fag A9, ”fT STR—uf¥gH faen # 5 9. fog B
@I WH gddl & | f9g B I8 10 &, gferor
e ¥ gae fd=g C R ygadi & | I8 ¥ I8 5
B, STR—qd fem 4 Iaar & vd fdg D W
Ugad & | i AT s va Al e # g § |
Al 9D I STRRad o e

(a) T AT (b) TGS
(c) T (d) TR AT
[SSC-JE 2014 (M)]

I TP gotfded 37 SOx o <feror faom 9 150
fopHll, /€ B IUAR 3 FeAcil 81 7T 2000 fdb,
B U TI B & Al U GHY ToiF & g (P
oo @ srfi?
(@ N > S

() E>W

b S >N

(d) g fe=m =t
[SSC-JE 2014 (E)]

9 9 S X FAfaar B aeRia w27

C
E H
A B
G F
D

(a) AB @1 CD

(b) EF @21 GH

(c) SURIad T+

(d) Suad ¥ ¥ Bl T

[SSC-JE 2014 (E)]
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Murthy drove from town A to town B. In the

1
first hour, he travelled 1 of the journey. In the

next one hour, he travelled % of the journey. In
the last 30 minutes, he travelled 80 km. Find the
distance of the whole journey.
(a) 240 km (b) 300 km
(c) 320 km (d) 360 km

[SSC-JE 2014 (E)]

Hospital is 12 km towards east of Rupin’s house.
His school is 5 km towards south of Hospital. What
is the shortest distance between Rupin’s house and
school?

(a) 16 km

(c) 12km

(b) 17 km
(d) 13 km
[SSC-JE 2015]

Two cars started from a particular spot. The car
A ran straight at the speed of 30 kmph for 2 hours
north and then took a right turn. It ran 40 km &
again turn right. It stopped after 30 km. The car B
ran straight towards east at the speed of 20 kmph
for 2 hours and turned left. It ran for 10 km and
then stopped. How far were these two cars from
cach other when both of them stopped at last?
(a) 17 km (b) 18 km
(¢c) 19km (d) 20 km

[SSC-JE 2015]
A hunter while chasing a prey walks 5 km North,
then turns East and walks 3 km, then turns North
and walks 10 km, then turns to his left and

walks 3 km. Where is he now with respect to
the starting position?

(a) 5 km North from the starting position

(b) 15 km South from the starting position

(c) 5 km South from the starting position

(d) 15 km North from the starting position
[SSC-JE 01.03.2017 (M)]

13.

14.

15.

16.

AT TR AH TR B &I O ST & | U8el °c 4
I el AT Bl %qﬁmw%mﬁu’éﬁ

%aﬁwa&%qﬁmwﬁlmso
fie # 98 80 fbHl. {5 T T FHea & | IHDBI

Gt A fb Q0 =1 BIfoie?
(a) 240 T, (b) 300 fpHT.
(c) 320 fapHT. (d) 360 fpHT.

[SSC-JE 2014 (E)]

AT WU & B & Yd &I 3R 12km B |
IHD] Whel AT & GIRTT BT 3R 5 km B |
B & &R 3R W@ & 19 Fa B 8 =T 87
(a) 16km (b) 17 km
(c) 12km (d) 13 km

[SSC-JE 2015]
U ORI I ¥ Q1 BRI AT AR a1 | PR A
G 30 kmph BT TTRT I IR DI AR 2 €S Tb dedl
3R TR @8 I 48 S | I8 40 km el 3iR fhe &
Q¢ S 7S | 30km & 9% 98 b 75 | HR B20kmph
1 IRT 2 €S e ST g 3= 7 3IR Tl 3R R
q e TS | I8 10 km Tl 3R v ¥ TS | 3T
S 1 PR ad 1S 1 d Ueb gAR | fobail gx oi?
(a) 17km (b) 18 km
(c) 19km (d) 20 km

[SSC-JE 2015]
Tah TR 31U+ fRThTR &7 UTsT &vd §U SR dl
3R 5 B T B, MR GSHR Yd &l 3R 3 fob,
Al FAar B, R SR B AR SR 10 T Al
FAdT B, TR 319 a1 3R S 3 b1, Frerar
g | URE R | 3@ I8 F8l W 8?

(a) IRMA® Reafd 9§ 5 fh. SR @F 3R

(b) IRM™E Reafa | 15 fHHA1. <féror o iR

(c) TR e Rerftr & 5 {6 3o a1 e

(d) IRM™E Reafa | 15 fhHl. SR @ 3R
[SSC-JE 01.03.2017 (M)]




ENGINEERS ACADEMY

Direction Test

17.

18.

19.

20.

Two friends A and B Start from the same point.
A walks 4 m North, then turns to his right and
walks 6 m. Meanwhile B has walked 6 M East,
then he turns to his left end welks 12 m. Where
is B now with respect to the position of A?

(a) B is 16 m to the North of A
(b) B is 8 m to the South of A
(c) Bis 16 m to the South of A
(d) B is 8 m to the North of A
[SSC-JE 01.03.2017 (M)]

A postman cycles 4 km West, then turns South

and cycles 7 km, then turns East and cycles 4

km, then turns to his left and cycles 10 km.

Where is he now with reference to his starting

position?

(a) 17 km North from the starting position

(b) 3 km North from the starting position

(c) 3 km South from the starting position

(d) 17 km South from the starting position
[SSC-JE 01.03.2017 (E)]

Two persons A and B start from the same point.
A walks 4 m North, then turns to his right and
walks 3 m. At the same time, B has walked 9
m East, then he turned to his left and walked 4
m. Where is B now with respect to the position
of A?

(a) B is 6 m to the East of A
(b) B is 12 m to the East of A
(c) B is 6 m to the West of A
(d) B is 12 m to the West of A
[SSC-JE 01.03.2017 (E)]

The marathon route goes 6 km South from the
starting point. It then turns West and goes 6
kms, then turns North and goes 6 km, finally it
turns left and goes 2 km to reach the end point.
Where is the end point with reference to the
start point?

(a) 4 km to the West of the starting point.

(b) 8 km to the West of the starting point.

(c) 8 km to the East of the starting point.

(d) 4 km to the East of the starting point.

[SSC-JE 02.03.2017 (M)]

17.

18.

19.

20.

a1 13 A 3R B U 81 fdg | Il 9 R
T1A 4 e IR BT 3R FoAa &, B 1= 3R
P 6 A Tl & | ST §HI B, 6 HIex gd &l
3R I & 3R R a1V IR gy 12 HIex
Tordl & | Ad Rafa & 319 B %8l wR 87
(@) B,A @ IR # 16 Mlcx &l g8 W &
(b) B, A & TIeToT ¥ 8 Wex &l ¢ WR &
(c) B,A & 3Ry 4 16 HIlcX & §U W &
(d) BA® IR H 8 M &l g W &
[SSC-JE 01.03.2017 (M)]
T YICHA 4 THH1. ufeam &7 SiR A1sfdet arefTa
g 3R e qede 7 . feéror ot ok wrgfdha
AT B, fhx g &1 3R qeapx 4 b, rgfoper
AT & AR R 370+ 1Y IR ehR 10 Tl
arsfoeet aeTar &1 URMe Reafa & o9 a8 wa!f
R 87
(a) TRFS Reafy I 17 forfl. SR &1 3R
(b) URMAE Rerfa I 3 fhdl. SR @ 3R
(c) URFTR Rerfay &1 3 fadl, <feror @ 3R
(d) IRfFe Rerfa & 17 fae, <féror & ik
[SSC-JE 01.03.2017 (E)]
31 ARTA R B U &1 fdg A Fef1 Uy &vd 2 |
A, 491 TR & 3R Fetar B, fh srae 1fgq oIk
gSPR 3 W1, TeTcll & | S W9y B, 9 WY, qd I 37R
FAdT & 3R R 98 3 a1 3R e 4 M.
TordT © | Ad! Rarfa 9 8@ B wsf W 87
(@) BA® qd # 6 flcx &I U W &
(b) BA® qd # 12 Mex & I R &
(c) B,A® 9RaW # 6 X &l g W &
(d) B,A® 9R¥a # 12 M &l T W B
[SSC-JE 01.03.2017 (E)]
AT BT N1 YRR fdg & aferor &) 3R 6
B, e €1 fR I uf¥em &1 3R SR 6
e, e 8, e IR BT 3R R 6 foAl,
ST & 3R 37 H arl 3R gShR 2 fHl. STy
sifem fdg T ugad 2 | IR fdg & wmver
3ifow fdg a/@ @l W 2?
(a) URFIS Rerfy & 4 f, afdem #
(b) yRfE Rerfa & § foel, afdem 4
(c) URFI® Rerfa | 8 fHl. ga #
(d) URRE Rerfa | 4 f41 ga 4
[SSC-JE 02.03.2017 (M)]
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Two children A and B are playing. B is standing
5 m to the North of A. B then walks 10 m East,
then turns to his right and walks 8 m. At the
same time, A has walked 2 m to the west, then
has turned to his left and walked 3 m. Where is
B now with respect to the position of A?

(a) B is 8 m to the East of A
(b) B is 12 m to the West of A
(c) B is 12 m to the East of A
(d) B is 8 m to the West of A
[SSC-JE 02.03.2017 (M)]

A girl walks 3 km East starting from her home.
She then turns South and walks 2 kmn, then she
turns West and walks 7 kmn, then she turns to
her right and walks 2 km. Where is she now

from her starting position?

(a) 10 km to the West from her home.

(b) 4 km to the East from her home.

(c) 10 km to the East from her home.

(d) 4 km to the West from her home.
[SSC-JE 02.03.2017 (E)]

A is standing 6 m to the East of B. A walks g
m South, then turns to his right and walks 7 m.
At the same time, B has walked 3 m West, then
he turned South and walked g m, then he turned
to his left and walked 5 m. Where is B now
with respect to the position of A?

(a) B is 12 m to the East of A
(b) B is 3 m to the West of A
(c) B is 3m to the East ofA
(d) B is 12 m to the West of A

[SSC-JE 02.03.2017 (E)]

21.

22.

23.

S Tl ARB W W6 8 |B,A® SR # 541 )

el & | fh B YJ &Y 3R 10 Y. erell & e 3

I3 3R ISHR 8 HIex Fofdl & | S T A,

¥ @ 3R @ 3R 2 Hier Fardn & iR R

319+ 1 3R Jedx 3 W godl o | Ad Rerfa 4

31 B FBl W &7

(a) BLA® yd # 8 e &1 gl W &

(b) B,Ad ul¥e® # 12 Hiew &1 U W &

(c) B,AD qg # 12 Hicy &l T R &

(d) B,A® uf¥gq 8 HIcx $HI I W B
[SSC-JE 02.03.2017 (M)]

T Aed! 30 TR | YR &va 3 ToHT. gd 1 3R
el & | R a8 <RIT BT 3R FShw 2 fobAl. Zrerelt
8, fiR a8 9¥aM &1 IR gaw 7 f&Hl. Tl &,
e 9% 3o Qe 3R Jeaw 2 Bl Ted B
URMS ReIfer I 3@ I8 P8l W 8?

(a) S9d TR ¥ 10 ft. af¥am #
(b) SHD WX ¥ 4 B g H
(c) SHd == ¥ 10 AL gd &I 3R

(d) S9B TR ¥ 4 fHHL gf¥ed oF iR
[SSC-JE 02.03.2017 (E)]

AB® g H 6 Hicx & g0 W @I © 1A, 9 HIex
ST BT MR Feram & ofiR fhv 3+ Qe+ iR
TSR 7 WicR IoAdl @ | S 97T B, 3 Wiex ufdzm
DI 3R AT B, ThY IIET0T BT 3R FSHR 9 IR
AT & 3R TR I8 31U a1¢ 3R S 5 A
T T 1A D Ry 9 9@ B, Bl W) &7

(@) BAG @ H 12X &l T W 2
(b) B,A® ul¥gq H3¥WcR & U R &
(c) BAG Qg H3 MRl W W 3
(d) B,AD Uftgq § 12 HieR 31 g W 8

[SSC-JE 02.03.2017 (E)]
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25.

26.

27.

If a jogger runs 4 km North, then 3 km East,
then 9 km South, then 10 km West, then 5 km
North, where is he now with reference to the
starting position?
(a) He is 7 km to the West of the starting
position.
(b) He is 7 km to the East of the starting
position.
(c) He is 4 km to the South of the starting
position.
(d) He is 4 km to the North of the starting
position.
[SSC-JE 03.03.2017 (M)]
Two football players A and B start from the
same point. A runs 10m North, then 15 m East,
turns right and runs 25 m. Meanwhile B runs 7

m West, then 15 m South, turns left and runs 2
m. What is the position of B?

(a) B is 20 m to the East of A
(b) B is 24 m to the West of A
(¢c) B is 20 m to the West of A
(d) B is 24 m to the East of A
[SSC-JE 03.03.2017 (M)]

A fishing boat sails 5 km South in still waters,
then turns East and sails 8 km, then turns North
and sails 5 km, then turns to its right and sails
10 km. Where is the boat now with reference
to its starting position?

(a) 18 km to the East of the starting position.
(b) 2 km to the West of the starting position.

(c) 18 km to the West of the starting position.
(d) 2 km to the East of the starting position.

[SSC-JE 03.03.2017 (E)]

Two people A and B start walking from the same
point. A walks 15 m East, then turns south and
walks 5 m. At the same time, B walks 5 m South,
then he turns to his left and walks 25 m. Where
is B now with respect to the position of A?

(a) B is 35 m to the East of A
(b) B is 10 m to the East of A
(¢) B is 10 m to the West of A
(d) B is 35 m to the West of A
[SSC-JE 03.03.2017 (E)]

24.

25.

26.

27.

IS T SR 4 {41 STR, S9a 91 3 AT Ud,
e 9 fel. <féror, = 10 fooeh. ufdem siR dis
SAITAT & A fh 5 fod SR faen # axar g1 8@
I8 URfIe Rafa & et w87
(a) 98 URMIE Refa 9 7 i afdaw # 71
(b) a8 URMEe Reafd |7 fAL qd 4 B |
(c) a8 URMS Reafer & 4 b, <fror § g
(d) a8 URfIE Rerfa T4 ff SR # T
[SSC-JE 03.03.2017 (M)]
Hedld & al RIATSI A 3R B U &1 fdg | U
FRA 21 A, 10 Hiex IR R 15 Hiex gd <rear @
e IR 3R HShv 25 Hex Ilsdl B | 9 9y
B, 7 ¥ircr uf¥ad fiiv 15 Hiex <féror &of ok <rear
g 3R R 912 3R e 2 Hex Sredl 8 | Bl
Regfer arm grfl?
(@) B,A® gd # 20 #lex W g1
(b) B, A% uf¥em # 24 Hex R BN
(c) B,A® uf¥em # 20 Hex R BN
(d) B,A® gJ # 24 Hlex W g1
[SSC-JE 03.03.2017 (M)]
U HGCll dve drell A1d 2rid ol # 5 fdoil,
SRR BT MR SAA FHT & | IHDb 91 I8 o
&I AR N 8 hHl. Terae F=all 7, e SR
&1 3R SN 5 Bl g™ dll & iR
3191 IfE 3R Sy 10 THHl. STefa &l & |
g Reafd & 719 o @af W) 87
(a) URFE  Rerfd | 18 ¥ gd &1 3R
(b) IRfFE Refa & 2 oA ufdaw @t 3k
(c) yRfw Rerfa 1 18 faf. alRaw @ ek
(d) URfe  Reafer | 2 6. qd &1 &R
[SSC-JE 03.03.2017 (E)]
S @NT A 3R B U 81 fdg | I URT v & |
A, 15 HIeR gd &I AR FAdT &, R SMET0T B 3MR
gSHN 5 Al =Ieldl & | ST ¥9I B, 5 AR aferor
@ 3R FAdT & MR R a8 31 a1y 3R qeae
25 AR FAd & | A BI R F 31@ B P8l W &7
(@) B_A® Ud # 35 Hlex @ g W &
(b) B,A® Yd # 10 e @ g R &
(c) B,A® 9f¥a™ # 10 M &l T W 3
(d) B,A® 9f¥a™ ¥ 35 Mex @l T W 3

[SSC-JE 03.03.2017 (E)]
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BN Answer with Explanation

Ans. (b)

The movements of Sumit is as shown in figure
number 1. Then respect side of end point from
starting point is North-East

G BT <At o= AT 1 B AR B e GAd
&1 Reafcr uyRfe fdg 9 STR I 4 & |

N
17
10
21
W < > E
S
Fig. no. (o7 w1 ) : 1

Ans. (a)

The movements of Ram is as shown in figure
number 2. Then respect side of end point from
starting point is South-West

T T AT 5 T 2 & IR & 37 I &)
Rerfa R fag | <Ro—aftaw 4 8 |

N
4

10r10
W< > E
!

S

Fig. no. (o7 &¥&=1 ) : 2
Ans. (a)
The movements of Neeraj is as shown in figure
number 3. Then respect side of end point from
starting point is North-West
RSl BT i1 forsl e 3 @ SRR B 3k IRal
o Rerfd URfve fog A SR afRaa # & |

N
N
200
W € E
100
, 400
S
Fig. no. (o7 &&=1 ) : 3

Ans. (c)

The movements of Sunny is as shown in figure
number 4. Then respect side of end point from
starting point is South-West

AT BT IAT T3 ERIT 4 & STTAR 8 37 T 1)

& Reafa uRM™e 95 9 fRo—ufam 6 8 |

N
N

W < > E
25

15,
25|

4
S

Fig. no. (o7 &%=1 ) : 4

Ans. (d)
The movements of Rakhi is as shown in figure

number 5. Then respect side of end point from
starting point is South-East

T BT AT Fos A1 5 & AR © 37d: I
o1 Rerfd uRfve fog A <fero—qd # & |
N

A

25

75 30 |30

15 25
<«—o—Y
25

N

S
Fig. no. (o7 &&=1 ) : 5
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Direction Test

6. Ans. (¢ 9. Ans. (b)
My resultant faceing side is North The movements of Manisha is as shown in figure
§ Raead & oo e § o T & number 9. Then startmg side of Manisha is East
AT &7 FAT o W& 9 & R © o
TI N qAIT Bl R faem qd & |
o RELLR
A1 Starting direction — > East
- W4—I—>E %) (_T/
]I S East
I Fig. no. (o7 &&=1 ) : 9
Fig. no. (o7 ¥&=T ) : 6 10. Ans. (a)

7. Ans. (b) The movements of Mohan is as shown in figure
The movements of girl is as shown in figure number 10. Then house faceing side of Mohan is
number 7. Then moving side of girl is North-East North N N N

o . HigT bl deldl HET 10 SR 3d:
ASH! BT AT o TR 7 & AR & 3T
' HIgd & OR @I, a@ Bl {3 W
Y gy ' 8
P L L L
N Starting direction > East
I 3L
) J
30 /N30 North
3R
W< >E Fig. no. (= &%=1 ) : 10
I M 11. Ans. (@)
The movements of Ram is as shown in figure
| number 11. Then starting side of Ram is South-
S East
Fig. no. (f w&am ) : 7 M BT AT ford W=7 11 & AR & 37 M
8. Ans. (d) B URPS e afero—gg & |
$ position is South-West Starting point RR > North-West
S @1 Rerfa afero—afem © | 2R
() !
@ South-East
P Fig. no. (o &==m ) @ 11
W Q 12. Ans. (d)
The movements of Kareem is as shown in figure
number 12. Then the starting side of Kareem is
O O South
HA B IAT 5 T 12 © AR T A
U S@ BRI B URMAG e ey g |
4 L
T Starting side RELR \l, > East
W ) v
Fig. no. (o7 &¥=1 ) : 8 Southe—"

Fig. no. (o &==m ) : 12
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13. Ans. (¢
The respect side of M is North-East from K

K @& et M STR—qd # ¥ |

N
N
D M
W< . >E
xI 7
<—K— Feo
1/\1,\
4
S
Fig. no. (o &==m ) : 13

14. Ans. (d)
The respect side of D is North-East from C

C & W D STR-Yd # ¥ |

N
N

B D

W< . >E

Y

<—>C7—’>-
_/\l,\l
4
S

Fig. no. (o &==1 ) : 14

15. Ans. (a)
The respect side of Q is South from S

S & et Q Sfaror # B

N
x|
«~—S—>
A(V\
R M
W< . >E
® Qo
P
v
S
Fig. no. (o &==1 ) : 15

16. Ans. (a)
The respect side of C is North-West from E

E & |rel C Iav—ulam # 2|

N
N
A
W\ /E
¢ B g
T~
e <FE—>
s p ¥IN

Fig. no. (i &==1 ) : 16
Direction : Figure number 17 is for Que. 17 to 19

forder : fom Tveam 17 wea G717 W 19 BT B

N
/
D 14C | A
W< >E
4 |4
B 7 E oG
5
Fe \
S

Fig. no. (i w%=r ) : 17
17. Ans. (d)E,G B
18. Ans. (a) East (qd)
19. Ans. (0 E
Direction : Figure number 18 is for Que. 20 to 21

forder : o Tvaam 18 weA WRAT 20 W 21 T B

N
4
Meghna
B 7 |A
W/ 3\: LN E
2 2 2
D 4 C ¢E

W&

Fig. no. (o &==m ) : 18
20. Ans. (b) 8 m, West (8 HI. Uf¥z)
21. Ans. (d) DCE

ENGINEERS ACADEMY
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Direction Test

Direction : Figure number 19 is for Que. 22 to 23

forder : o Tvaam 19 weA GRAT 22 W 23 T B

22.
23.
24.

25.

N

A

W/ PV \E

W&

Fig. no. (3 <) : 19
Ans. (d) R
Ans. (c) 1 m, East (1 9. gg)
Ans. (a)

We know that if shadow is in right in morning
then the person is facing towards south.

INEURS

= Nishant

l

So, Nishant face south then he turn left and then
he turn just opposite side.

Now Nishant is facing towards West

ST b 89 ST & T <t @afch urT: dret aferor
# <WAT &, SUd! BT SUD <s 3R a1 © |
31a: Frem= <feyor # 9w V@1 © 1 98 91 SR gl
2 R die foudia oz oo oirar & A1 9@
e &1 45 ufdad a1 QiR B |

Ans. (a) South (Sferor)

(I %

26.

27.

28.

29.

30.

31.

Ans. (a) South (Sf&roT)

Arun ——

South
(cferon)

(d) South (zfayo)
farer
Rg L
st
Ans. (c) South-East (Sferor—gd)

Train — * North
Air —— Wes 4

T —>

Eﬂ'g, —_ gf359 —p T

Ans. (b) South-West (SfeTor—qf3=®)

Ans.

Train —— »East
Air —— Nort - ‘

T — [l g
Y  ——> TN =TT

Ans. (c) North (STR)

We know that in evening time sun is in west
direction.

ST 6 89 O © o dRIeie & ' i
gf¥e™ # BT B |

R
<— | Ramesh 1
1
L l
¥
Smoke Train
Ans. (d)

In electronic train there is no smoke so, resultant
direction of smoke is none.

T Solfdgd g1 9 il T8T BIdT 3T IR DIy
8l § |
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32. Ans. (¢

135° Left
South-West —— > East
sfRm-ufem  135° 91 ad

33. Ans. (d)

1359A, 186°(
South = > South-West
Z T 45°C 2 R—ufem
34. Ans. (c) South-East (ZfeTor—ya)
South =f@or
West gfyem
e T ofew
South West
gferor South < > North 3=
ud East West afze
94 East North
SISk
North ST=
East @

35. Ans. (a) South-West (SI&Tor—yf3zH)
South=ferr  yfyem

R West North s}

West West uf¥=m
gfgror North
Southe > SR

zferor South (Y I\]IEC;I:I Gt?’;
qg East o East

36. Ans. (b) East becomes South

South-East ——> South-West

East
A
SR North South =ferer
¥R North < > South =féror
¥k North South siEm
qf3=g West J West  uf¥=H
West
gf¥eH

37. Ans. (d)
2 2 >l 2 L’ L’ L
North LRR Y > East
SR 3L=R
38. Ans. (¢
>l 2 2 R
West RREER East
RIREE 2R

39. Ans. (a) South-West (Gferor—uf3=m™)

15 A
————
W N
B C
S E
2 D

40. Ans. (b) North-West (STR—U¥H)

The movements of Rohit is as shown in figure
number 20. Then respect side of end point from
starting point is North-West

Af3d & FAT ford F@AT 20 & AR & A
Afed B Rafa uRfE fog I STR—afRam # 8 |

N
25 1
10

A

10
W< >E

W&

Fig. no. (I &%=1 ) : 20
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Direction Test

41. Ans. (c) North-West (STR—ul¥=H) I/\I
133°C, 45°A, 184°C, 270°A
North West A7C. 47 18°C. 270 North West
SN—af¥=y 0 JR—
15 15
42. Ans. (b) 5km (5 Tb) W > E
The movements of Akash is as shown in figure 15 \\ 15
number 21. Then the distance is 5 km fromend @ L____Jd_____
point to starting point. | N\ |
SITHTET BT AT o3 HRAT 21 & AJER & 37k ' 0km
aif<am famg 9 URfves fawg 5 f il R B | Fig. no. (T3 w@=r ) : 23
I/\I 45. Ans. (d) 10 m (10 #I)
The movements of Pooja is as shown in figure
number 24. Then the distance is 10 m from end
point to starting point.
We o T - ISl BT el o AT 24 B SER & ofdh
it favg & uRfwas famg 10 M ) B
5 N
4
N
S
Fig. no. (o &%=m ) : 21
43. Ans. (c) 5km (5 fb) e 5 >E
. . 7
The movements of Neelam is as shown in figure \
number 22. Then the distance is 5 km from end 7 <
point to starting point. 14\
¥ BT AT 3 E=T 22 & STER © 3Ia: Fig. no. (Fora w&am ) : 24
st~ fag & uRfvss fag 5 el R 2| 46.

S
Fig. no. (o &==m ) : 22
Ans. (b) 30 km (30 fd.#1)

The movements of persons are as shown in figure
number 23. Then the distance in between persons
is 30 km.

IfFTal BT AT fos AReT 23 & HR § A
QM & A7 30 fBA. FT R B

44.

Ans. (c) 60 m, South (60 #I. Ef&ron)

The movements of Priya is as shown in figure
number 25. Then the distance is 60 m from end
point to starting point in south .

i &1 g o W@ 25 @ ER © o
aif~am famg A U fawg 60 1. sferor 4 3 |

N
A
Straight point
20
W/ . ~ E
40
20 20
Y S
Garden ®

Fig. no. (i &==m ) : 25
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Ans. (c) 100 m (100 . )

The movements of child is as shown in figure
number 26. Then the distance is 100 m from end

point to starting point.

Il & dal a9 26 & IR © 3T

st~ favg & URfwes fa=g 100 W1 R |

A

W/

N

Fig. no. (i &==1 ) : 26

Ans. (b)
Total distance =8 +6+8+ 6+ 10=38 m

HA G =8+6+8+6+10=38
! 8 s|

Cat

10 6

Ans. (a) 4 m, North (4 I, TR )

The movements of Vinod is as shown in figure
number 27. Then the distance is 4 m from end
point to starting point in North.

fadie &1 aa fag d@ 27 & IR § 3
s~ favg 9 UV fag 4 A SR H 7

N
4
4 4 km, North
4
W< 4 >E
Starting
point
N
S

Fig. no. (i &%= ) : 27

Ans. (b) 5 km, North (5 T, #I. SR )

The movements of bus driver is as shown in figure
number 28. Then the distance is 5 km from end
point to starting point in North.

X ATcidh BT FeTT o HT 28 & ATER 8 A
arf<am famg 9 URfve fag 5 fadl SR W 5 |

N
A
5
2 2 km
W< >E
6
\’{1 School
5
N
S

Fig. no. (= &%=m ) : 28
Ans. (b) 26 m, Parallelogram (26 1. FHIMIIR 2Ho)

The movements of Amit is as shown in figure
number 29. Then the total distance is 26 m and
Parallelogram is formed.

SITAT T AT o =T 29 & SR B 37k Gl

X 26 Al TAT ST ATpc HHATR A
ERCIRY

N

4

B 8 C
W< A 5 8 5 >E
D
N
S

Fig. no. (i &==m ) : 29
Ans. (b) 10 km (10 T, )

The movements of A and B is as shown in figure

number 30. Then the distance in between A and
Bis 10 km.

A 3R B &I g1 for H&IT 30 & S 9R © 31
AR B® 77 10 fb i &1 g2 7|
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53.

54.

=
ﬁ)>
7
7
V4
(9'9)
y

(98]
4
o,
v
7/
&
.
y
w3l

Fig. no. (I &%=1 ) : 30
Ans. (d) 4 feet (4 BIT)
The movements of Avantika is as shown in figure
number 31. Then the distance is 4 feet from end
point to starting point.
JATADT BT AAT 3 HEAT 31 B AR & 3
st~ fag & URfvas a5 4 Wi R B

N

A

W/

10

N

S
Fig. no. (o &%= ) : 31
Ans. (a) 35 m, East (35 #I. Jd)

The movements of Pankaj is as shown in figure
number 32. Then the distance is 35 m from starting
point to end point in East.

Gdol & FAT T T 32 @ IR § 3T
URfE fag 9 sif~w fag 35 M. QR gd # 2|

N

A

20
10 10
We————¢---- —--- E
15 15
15
N
S

Fig. no. (o &==m ) : 32

55.

Ans. (d) 6 feet, North (6 BIe ITR)

My movements is as shown in figure number 33.
Then the distance is 6 feet from starting point to
end point in North.

T AT oS T 33 & IR © I YR
fag 91 o< fag 6 Wic R STRH B |

N
A

6

12 0

6

we— 61 o
N
S
Fig. no. (o &==r ) : 33
.
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Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
. Ans.
Ans.
Ans.
Ans.

(a)
(©
(©
(d)
(©
(b)
(b)
(b)
(d)
(a)
(©
(a)
(d)

14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.

A Answer Key L

) Advanced Level {

Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.

(b)
(a)
(©
(b)
(©
(©
(d)
(b)
(d)
(©
(©
(d)
(a)

27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.

Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.

(b)
(b)
(b)
(b)
(d)
(a)
(©
(©
(a)
(b)
(b)
(a)
(b)

40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.

Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.
Ans.

(a)
(d)
(b)
(b)
(a)
(a)
(d)
(d)
(©
(©
(©

aad
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Direction Test

A Answer Key |

o - »
.: Previous Year Questions _{

1. Ans. (¢ 7. Ans. (d)
e 150 >
A Al B B 6 +
25 s e 65— 35
75 8 8
2.  Ans. (¢
3. Ans. (b) 4
We know that sun rises in the East. S.  Ans. (b)
= 50 >
Ly 30 .l 20 5 25 .
50
40 40 e+
50
30 Priya is facing towards west
4. Ans. (¢ 9. Ans. (¢
5 p
N
2 2
l.—+
3
W 3 \\5\ E
Ans. (b) 4 3 )
S 4
N
By Pythogorous number :
Housg P-B =H
w ~~_ E . =
60 a ~Kiran 1.C., 3-4=5
40 So, total distance
520 =5+5=10km
Ans. (a) 10. Ans. (a)
B
N 5
@/' A
B @ 10
W 1 E D
5 S
C
S 2

So, the above figure is Trapezium.
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11.

12.

13.

14.

15.

General Intelligence & Reasoning

Ans. (d)

From the given question, if is clear that train is
electrical so no direction will the smoke of its
engine go.

Ans. ()

In the given figure AB, CD, EF and GH are the
lines of symmetry.

Ans. ()

Let the total distanc of whole journey be x km.

According to question

L,
X — 4 B = 80

X~ g0
= 1o
- x = 320 km
Ans. (d)
N
Rupin's | - pogpital
House b /
W—3(—1—FE
\\\ 5
School
S

The shortest distance between Rupin’s house and
school

= Ja2y + (5

= J144+25 =13km
Ans. (d)
Distance between both car

A and B =20 km.
N

40
30
lA
Blio
10 E

60

Wr

16. Ans. (d)

15 km north from the starting position

Last 3 km
L,
10 km
15 IB 3 km
km 5
5 km
— starting
17. Ans. (d)

B 1s 8 m to the north of A.

B
6k 8 km
m
A 12 km
A
Be— »

(Starting Point)

18. Ans. (b)

3 km North from the starting position
R R | 3 f&l SR @ 3R

A

3

19. Ans. (a)
B is 6 m to the East of A.
B,A® Yd # 6 Hiex @l g W T

ENGINEERS ACADEMY
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20. Ans. (b)
8 km to the West of the starting point
2 1 % v
Last Starting
2 km
6 km 6 km
6 km
Ans. ()

21.

22.

23.

24.

B 1s 12m to the East of A

10 m
8§ m
.................................. .‘

A (10+2)=12m B
Ans. (d)
4 km to the West from her home.
IIP TR 4 km UEH @F 3R

Home 3 km
2 ka 2 km
7 km

Ans. (c)

B is 3m to the East of A
B,A® qJ # 3 #Ier &I g W T}

3 B 6m A
9 9
2A 3 B 7m
Ans. (a)
He is 7 km to the west of the starting position
3
4 4
----------- —&—
5 5

25.

26.

27.

28.

29.

Ans. ()
B 1s 20 m to the west of A.

15
10
7 10
2
15 15
) v
2 B 20 A

Ans. (a)
18 km. to the East of the starting position

>
10
5

Ans. (b)
B is 10 m to the East of A.

15

35 5
15 A 10 B

Ans. ()
6 km. South from the starting position.

15

6
S
5
Ans. (a)

B 1s 6 m to the East of A

11
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30. Ans. (¢
8 km to the West of the starting point
R RIfd | 8 km Uf¥a™ &l 3R
3 km
7 km 7 km
5 km N
West starting
) 5+3=8km
31. Ans. (b)
B is 8 m to the North of A
B,AY SR # 8 #lex @1 ¢ W 3|
Starting
3m pglnt 6 m
12 m
'B
1
9m i
A
32. Ans. (¢
B 11 cm C
3cm
E 4 G 11 cm
2 lt 12 D
Fe---u----0A
Last point 4em Starting point
Here EGAF is a Reactangle.
33. Ans. (b)
B ﬂ%
7 km
13 km
3 km 7 km
Starting
Point
6 km 10 km

3 km

34. Ans. (a)
ootarting Point
10 7
30 25
A4 »
10
35. Ans. (b)
8 A
F
I5A° {15-4 =11 km North
A 5 B
"~ 9B
36. Ans. (b)
15 A
15
z >
25
_________ Y
10m East
37. Ans. (d)
Starting Point
®
7
Y
12
5 9
v 7,
B A
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38. Ans. (o 43. Ans. (d)
initial point Bg----- 61 -27=34 A
____1____ﬁnal 43 24T 43
18 < 61 Bt
17 17 19
s AY27 Starting Point
44. Ans. (b)
39. Ans. (a) 4—14
3
15 o
:8km
7 :
22 1 v '
45. Ans. (o
15
15+11=26 X
I WY Q R
40. Ans. (a) 25
L0 E 25+19+4 = 48k
7km 7km Starting pointX 4 E i
__________________ Y :
8km 19 :
I ____________ 8.?._1_9_?__18___________} :
A 4 E
413 :
41. Ans. (a L,
(a) Wi Y
46. Ans.
N 2
15 end starting point
3 - p01nt¥"mmy 3
18 ?
17

47. Ans. (d)

42. Ans. (d)

m3—- starting point
4 4
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48. Ans. (a)
13
2
Home
20
5
Office._ 8 3
49. Ans. (a)
A4S
B
60
125 A
45
15
B
50. Ans. (a)
35km o 3km._
2.5 km 2.5 km
6.5 km
51. Ans. (b)
7km IA
10 km .
110+5 =15 km
6 km 5
5 km
13 km iB
52. Ans. (d)
1
3
7 1 well

* hut

53. Ans. (b)
Brother's Sister's
School School
54. Ans. (b)
3
12
.~ Home
7 :
1 7-2=5
S
3
55. Ans. (d)
Shyam
Rahul T
it
: b
171 15
t 17-11=6 km
v '
8
56. Ans. (¢) 73 m East
55+18=73
Initial pointe TT.I final poi
point
32
32

55

57. Ans. (@) 40 M [21+19 = 40 M]

¢ Nayan

21m
Ramdeen

Pawan Vikash

19m 28 m

Ajay
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58. Ans. (¢) North 63. Ans. (b) South west and East
6
North
. 3 9
12
12
59. Ans. (c) South 64. Ans. (¢) South-East
Mahak
Chendu +.
Balu— <« Arpit Karishma —— +Kartik
65. Ans. (o

1 140
Dinesh m Front

final point

60. Ans. (c) 13 km 70 m
35 35

20 km 70 m initial point (back gate)
‘—@ 66. Ans. (a)
3 ~"~.,~/'\/122+52 30 km
5 “s... 13km &
20 10 30 km 10 km
E "
16 16 km
61. Ans. (a) 45 m, south
A
) 67. Ans. (b)
18 m L N
£ School
W- E
30 m £ >
30+15=45m S
¥ 18 |House|
15 68. Ans. (b) 5 km
6 k.m
<+ A
2km
62. Ans. (b) 32 years s | [ House. 2km
Arirudh < Rahul <Akshay < Bala < Darpan
A A B Ly
V¥

28 32 36 40 44 Office
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69. Ans. (a) North 74. Ans. (¢

Padma (S)
F 12 km
l E
\\
\ 3K
10k
Shudha (E) ——» ——Umaw) N e 6 km
8 km AN D
T AN 5 km
\
| N
Radha (N) -
& A 6km B
70. Ans. (¢) North and West
Worlnan 75. Ans. (d)
v East
-4 <-Man O ———————
Woman 2 km 7 km
*
Mlan 3 km »East
71. Ans. (c) South west e g
B So some direction.
76. Ans. (a) South west
A
N 0]
72. Ans. (d) NG
30 77. Ans. (d) South East and west
120 m

V14400 +81000 = + =
14400+ 8100 22500 =150m 78. Ans. (a) South-West

Ram Rajesh

73. Ans. (b) East

Northward
R L Ramesh

East
L

Rohan
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79. Ans. (d)
Arjun Walks
O —
22 m
22 m
ATM 42 m
20 m
22 m Office -+
Bookstall

= 42 m far is he from hisstarting point.

80. Ans. (b)
2

48 m

83 m D¢

35m

20 m

X Bo——="—  oF
AD + DB=48 m+35m=83m

= In North direction and at 83 m distance is A
located with reference to B.

81. Ans. (a)

supermarket Office

Post office

Gunaranjan S
House
= East direction was he facing at last.

82. Anms. (o

Ramal Murali North
E
82 m 82 m WeSt—i- ast
South
Sarika

= East

83.

84.

85.

Ans. ()
Class
A Teacher
V60> +80%
100 m
80m
Starting 60 m
Poi
ot 40 m 40 m
50 m
= 100 m
Ans. (b)
Terminal B
. 40 km Junction Y
15 km
33 km
; 40 km Junction X
18 km
v |Sravan
Terminal A

= 18 km + 15 km = 33 km

= 33 km is Terminal A with respect to

Terminal B.
Ans. (b)
Rajkiran
Home o -
[e——285m ——1y79
o 120 m 165 m 0Office 480m
Garden
210 m 210 m
165m ¥y
South

285 m for i1s he now from his office which is
270 m south to his home.
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86. Ans. (d)
6km Office
——————0
17km_—
8km ;
Home~ i
o’ ]
Starts driving

J15)7 + 8
= J225+64

= J289

=17 km
= 17 km 1s the shortest distance between her
home and her office.

87. Ans. (¢
Travels
Manyak Starting
20 km
12 km
20km 35 km S
- Travels
Last
= J(35)2+(12)?
= J(1225)+ (144)
= {1369
= 37 km
= 37 km
88. Ans. (a)
Insurance
office Home 8m
e
\\\\/225 + 64
n=V289=17m
8m &m
15m
Swimming Revenue
pool colony

17 meter is the minimum distance between the
msurance office of Govardhan and the revenue
colony.

89. Ans. (a)
Initial
Poi
’ ot North
E West East
S
8 km South
West direction is she walking now.
90. Ans. (¢
Geerija
N
T =\V676=26m
5m
24m 24m Neotja
Damni Komali

26 m 1s the minimum distance between the
Geerija and Neerja.

91. Ans. (b)
Final 20 m
32m
60 m 25m
28 m
Office 45 m
(initial)

=32m+28m=60m

aad
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